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Police Recruitment Test : 2016
8th September 2016, 02:00 PM

Topic:­ English
1)

Question Stimulus :­

Fill in the blank with the correct option.

Everyone _____ save the natural resources of the earth.

must

might

could

dare

Correct Answer :­must 

2)

Question Stimulus :­

Fill in the blank with the correct option.

______ you tell me the way to the station please?

Might

Must

May

Could

Correct Answer :­Could 

3)

Question Stimulus :­

Fill in the blank with the correct option.

You _____ take an umbrella in case it rains.

should
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might

could

dare

Correct Answer :­should 

4)

Question Stimulus :­

Fill in the blank with the correct preposition.

There is a danger of the conflict spreading _____ the whole of Central Africa.

of

for

from

across

Correct Answer :­across 

5)

Question Stimulus :­

Fill in the blank with the correct preposition.

There was a small table _______ the bed, on which there was a book.

into

in

besides

beside

Correct Answer :­beside 

6)

Question Stimulus :­

Fill in the blank with the correct preposition.

(3)
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The children squealed in delight when they saw all the Presents ______ the Christmas
tree.

in

of

from

under

Correct Answer :­under 

7)

Question Stimulus :­

Fill in the blank with the correct prepositions.

She ran _____ the police station _____ help.

for, for

into, by

towards, for

besides, for

Correct Answer :­towards, for 

8)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

India has

never attack on

any country.

No Error

Correct Answer :­never attack on 

9)
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Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

David have been

dialing your number

since Thursday.

No Error

Correct Answer :­David have been 

10)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

A man is judged

by his deeds,

and not by his word.

No Error

Correct Answer :­and not by his word. 

11)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

My youngest son

have been playing indoor games

since morning.

No Error

(5)
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Correct Answer :­have been playing indoor games 

12)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

Don't count

your chicken

before they're hatched.

No Error

Correct Answer :­your chicken 

13)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

The cows

are

economically useful.

No Error

Correct Answer :­The cows 

14)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

If you had helped me,

I would have

definitely helped you.
(6)
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No Error

Correct Answer :­No Error 

15)

Question Stimulus :­

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: lf there is no error, mark
your answer as ‘No error’.

As soon as we will

reach the hostel,

we'll inform our parents.

No Error

Correct Answer :­As soon as we will 

16)

Question Stimulus :­

Choose the grammatically correct sentence out of the given options.

He parked an car in front of the bakery.

He parked the car in front of the bakery.

He park the car in front of the bakery.

He parked car in front of the bakery.

Correct Answer :­He parked the car in front of the bakery. 

17)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

His property was agreed to be disposed of by him.

He agreed to dispose of his property.

He has agreed to dispose of his property.

(7)
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He had agreed to dispose of his property.

He agrees to dispose of his property.

Correct Answer :­He agreed to dispose of his property. 

18)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The winning novel was chosen by a panel of famous fiction writers.

A panel of famous fiction writers is choosing the winning novel.

A panel of famous fiction writers had chosen the winning novel.

A panel of famous fiction writers were choosing the winning novel.

A panel of famous fiction writers chose the winning novel.

Correct Answer :­A panel of famous fiction writers chose the winning novel. 

19)

Question Stimulus :­

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Why has the window pane been broken by you?

Why had you broken the window pane?

Why were you breaking the window pane?

Why did you break the window pane?

Why have you broken the window pane?

Correct Answer :­Why have you broken the window pane? 

20)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

(8)
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Alex said, "I will be in Geneva on Monday".

Alex said that he would be in Geneva on Monday.

Alex said that he will be in Geneva on Monday.

Alex said that he is going to be in Geneva on Monday.

Alex said that he will be going to Geneva on Monday.

Correct Answer :­Alex said that he would be in Geneva on Monday. 

21)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Katherine said, “I was walking along the street”.

Katherine said that she was walking along the street.

Katherine said that she had been walking along the street.

Katherine said that she has been walking along the street.

Katherine said that she had walked along the street.

Correct Answer :­Katherine said that she had been walking along the street. 

22)

Question Stimulus :­

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Sameer said to me, “Have you ever been to Mexico”?

Sameer asked me if I have ever been to Mexico.

Sameer asked me if I have been to Mexico.

Sameer asked me if I had ever been to Mexico.

Sameer asked me if I had been to Mexico.

Correct Answer :­Sameer asked me if I had ever been to Mexico. 

23)
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Question Stimulus :­

Fill in the blank with the correct option.

Politicians make many promises, but very ____ of them are implemented.

few

little

some

a few

Correct Answer :­few 

24)

Question Stimulus :­

Fill in the blank with the correct option.

He has sent his book to _____ publishing companies.

few

a few

little

the little

Correct Answer :­a few 

25)

Question Stimulus :­

Fill in the blank with the correct option.

There is _____ milk in my glass.

little

a little

the little

a few

(10)
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Correct Answer :­a little 

26)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo­shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black­and­
white plumage is often likened to a tuxedo suit.

 

When do Penguins come on land?

When they are hungry.

When they have to bring up their children.

When they have to migrate to a warmer place.

None of the above.

Correct Answer :­When they have to bring up their children. 

27)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo­shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may

(11)
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appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black­and­
white plumage is often likened to a tuxedo suit.

 

What does the expression ‘walk with a waddle' means?

Walk with short steps and a clumsy swaying motion.

Run speedily with slim legs.

Stand still at a place and move one’s head.

None of the above.

Correct Answer :­Walk with short steps and a clumsy swaying motion. 

28)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo­shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black­and­
white plumage is often likened to a tuxedo suit.

 

(12)
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Which word in the passage means ‘extremely or unusually small'?

Webbed

Diminutive

Awkward

Farthest

Correct Answer :­Diminutive 

29)

Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo­shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black­and­
white plumage is often likened to a tuxedo suit.

 

What is the meaning of the word ‘gait’?

Threshold

Entrance

Manner of walking

Speed

Correct Answer :­Manner of walking 

30)
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Question Stimulus :­

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo­shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black­and­
white plumage is often likened to a tuxedo suit.

 

What is the meaning of the word ‘plumage’?

Covering of feathers

A tall stature

A swift body

None of the above.

Correct Answer :­Covering of feathers 

Topic:­ Hindi
1)

Question Stimulus :­

िन䤀䰄िल䄀欃खत गꀂ灀ाशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके  नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन
करꬅ।

महाराणा ꬅताप िसहं जगंल­जगंल मारे­मारे िफरत ेथ,े अपनी ᴀ꜂ी और ब䬀贃ो ंको भखू स ेतड़पत ेदखेत ेथ,े पर䄀昆ु
उ䬀�ोनं ेउन लोगो ंकी बात नही ंमानी, िज䬀�ोनं ेउ䬀�ꬅ अधीनतापवू縂ꬅक जीत ेरहन ेकी स䜀怆ित दी, ᨀ�ोिंक व ेजानत ेथे
िक अपनी मया縂ꬅदा की िचतंा िजतनी अपन ेको हो सकती ह,ै उतनी दूसरे को नही।ं एक बार एक रोमन
राजनीितक बलवाइयो ंके हाथ मꬅ पड़ गया। बलवाइयो ंन ेउसस े㠀簂⸀ं㤆पवू縂ꬅक पछूा, “अब तरेा िकला कहा ँह”ै
उसन े縂ꬅदय पर हाथ रखकर उ倀㤆र िदया, “यहा”ँ ᄀ윅ान के िजᄀ윅ासओु ंके िलए यही बड़ा भारी गढ़ ह।ै म縂ꬅ िनက� चय
पवू縂ꬅक कहता 쀁ꬅ ँिक जो यवुा पुꬅष सब बातो ंमꬅ दूसरो ंका सहारा चाहत ेह,ै जो सदा एक नया अगआु ढूढ़ँा करते
ह縂ꬅ और उनके अनयुायी बना करत ेह縂ꬅ, व ेआᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत।े उ䬀�ꬅ ᘀ┄य ंिवचार
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करना अपनी स䜀怆ित आप 䄀欃က�थर करना, दूसरो ंकी उिचत बातो ंका म毿ू� समझत े쀁ꬅय ेभी उनका अधंा भ㜀䀅 न
होना सीखना चािहए। तलुसीदास जी को लोक मꬅ जो इतनी सव縂ꬅिꬅयता और कीित縂ꬅ ꬅा쀍 쀁ꬅई, उनका दीघ縂ꬅ जीवन
जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके
समकालीन केशवदास को द䄀े欃खए, जो जीवनभर िवलासी राजाओ ंके हाथ कठपतुली बन ेरह,े िज䬀�ोनं ेआᘀ윅­
ᘀ┄तंꬅता की ओर कम 䰀洅ान िदया और अतं मꬅ आप अपनी बरुी गित की। िजस मन㠀ु舅 की ब䄀ु欃䨀� और चतरुाई
उसके ꔀ縄ढ़ 縂ꬅदय के  आ�픅य पर 䄀欃က�थर रहती ह,ै वह जीवन और कम縂ꬅ­尀�ेꬅ मꬅ ᘀ┄य ंभी �픅谀े긃 और उ倀㤆म रहता ह ैऔर
दूसरो ंको भी �픅谀े긃 और उ倀㤆म बनाता ह।ै ꬅिस䨀� उप㐀ासकार Ⰰ㜄ॉट एक बार ऋण के बोझ स ेिबलकुल दब गय।े
िमꬅो ंन ेउनकी सहायता करनी चाही पर उ䬀�ोनं ेयह बात ᘀ┄ीकार नही ंकी और ᘀ┄य ंअपनी ꬅितभा का सहारा
लकेर अनके उप㐀ास थोड़ ेसमय के बीच िलखकर लाखो ंꬅपय ेका ऋण अपन ेिसर स ेउतार िदया।

महाराणा ꬅताप िसहं की पि䨀嘅 और ब䬀贃 ेभखू स ेतड़पत ेथ,े िफर भी उ䬀�ोनं ेिकन लोगो ंकी बात नही ंमानी ?

जो उनके िवरोधी थ।े

जो उनस ेबदला लनेा चाहत ेथ।े

जो उनके दကु� मन थ।े

जो उ䬀�ꬅ अधीनता पवू縂ꬅक जीत ेरहन ेकी सलाह दते ेथ।े

Correct Answer :­जो उ䬀�ꬅ अधीनता पवू縂ꬅक जीत ेरहन ेकी सलाह दते ेथ।े 

2)

Question Stimulus :­

िन䤀䰄िल䄀欃खत गꀂ灀ाशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके  नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन
करꬅ।

महाराणा ꬅताप िसहं जगंल­जगंल मारे­मारे िफरत ेथ,े अपनी ᴀ꜂ी और ब䬀贃ो ंको भखू स ेतड़पत ेदखेत ेथ,े पर䄀昆ु
उ䬀�ोनं ेउन लोगो ंकी बात नही ंमानी, िज䬀�ोनं ेउ䬀�ꬅ अधीनतापवू縂ꬅक जीत ेरहन ेकी स䜀怆ित दी, ᨀ�ोिंक व ेजानत ेथे
िक अपनी मया縂ꬅदा की िचतंा िजतनी अपन ेको हो सकती ह,ै उतनी दूसरे को नही।ं एक बार एक रोमन
राजनीितक बलवाइयो ंके हाथ मꬅ पड़ गया। बलवाइयो ंन ेउसस े㠀簂⸀ं㤆पवू縂ꬅक पछूा, “अब तरेा िकला कहा ँह”ै
उसन े縂ꬅदय पर हाथ रखकर उ倀㤆र िदया, “यहा”ँ ᄀ윅ान के िजᄀ윅ासओु ंके िलए यही बड़ा भारी गढ़ ह।ै म縂ꬅ िनက� चय
पवू縂ꬅक कहता 쀁ꬅ ँिक जो यवुा पुꬅष सब बातो ंमꬅ दूसरो ंका सहारा चाहत ेह,ै जो सदा एक नया अगआु ढूढ़ँा करते
ह縂ꬅ और उनके अनयुायी बना करत ेह縂ꬅ, व ेआᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत।े उ䬀�ꬅ ᘀ┄य ंिवचार
करना अपनी स䜀怆ित आप 䄀欃က�थर करना, दूसरो ंकी उिचत बातो ंका म毿ू� समझत े쀁ꬅय ेभी उनका अधंा भ㜀䀅 न
होना सीखना चािहए। तलुसीदास जी को लोक मꬅ जो इतनी सव縂ꬅिꬅयता और कीित縂ꬅ ꬅा쀍 쀁ꬅई, उनका दीघ縂ꬅ जीवन
जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके
समकालीन केशवदास को द䄀े欃खए, जो जीवनभर िवलासी राजाओ ंके हाथ कठपतुली बन ेरह,े िज䬀�ोनं ेआᘀ윅­
ᘀ┄तंꬅता की ओर कम 䰀洅ान िदया और अतं मꬅ आप अपनी बरुी गित की। िजस मन㠀ु舅 की ब䄀ु欃䨀� और चतरुाई
उसके ꔀ縄ढ़ 縂ꬅदय के  आ�픅य पर 䄀欃က�थर रहती ह,ै वह जीवन और कम縂ꬅ­尀�ेꬅ मꬅ ᘀ┄य ंभी �픅谀े긃 और उ倀㤆म रहता ह ैऔर
दूसरो ंको भी �픅谀े긃 और उ倀㤆म बनाता ह।ै ꬅिस䨀� उप㐀ासकार Ⰰ㜄ॉट एक बार ऋण के बोझ स ेिबलकुल दब गय।े
िमꬅो ंन ेउनकी सहायता करनी चाही पर उ䬀�ोनं ेयह बात ᘀ┄ीकार नही ंकी और ᘀ┄य ंअपनी ꬅितभा का सहारा
लकेर अनके उप㐀ास थोड़ ेसमय के बीच िलखकर लाखो ंꬅपय ेका ऋण अपन ेिसर स ेउतार िदया।

एक बार एक रोमन राजनीितक िकनके हाथो ंमꬅ पड़ गया ?
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िवदिेशयो ंके

बलवाईयो ंके

शꬅओु ंके

राजा के सिैनको ंके

Correct Answer :­बलवाईयो ंके 

3)

Question Stimulus :­

िन䤀䰄िल䄀欃खत गꀂ灀ाशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके  नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन
करꬅ।

महाराणा ꬅताप िसहं जगंल­जगंल मारे­मारे िफरत ेथ,े अपनी ᴀ꜂ी और ब䬀贃ो ंको भखू स ेतड़पत ेदखेत ेथ,े पर䄀昆ु
उ䬀�ोनं ेउन लोगो ंकी बात नही ंमानी, िज䬀�ोनं ेउ䬀�ꬅ अधीनतापवू縂ꬅक जीत ेरहन ेकी स䜀怆ित दी, ᨀ�ोिंक व ेजानत ेथे
िक अपनी मया縂ꬅदा की िचतंा िजतनी अपन ेको हो सकती ह,ै उतनी दूसरे को नही।ं एक बार एक रोमन
राजनीितक बलवाइयो ंके हाथ मꬅ पड़ गया। बलवाइयो ंन ेउसस े㠀簂⸀ं㤆पवू縂ꬅक पछूा, “अब तरेा िकला कहा ँह”ै
उसन े縂ꬅदय पर हाथ रखकर उ倀㤆र िदया, “यहा”ँ ᄀ윅ान के िजᄀ윅ासओु ंके िलए यही बड़ा भारी गढ़ ह।ै म縂ꬅ िनက� चय
पवू縂ꬅक कहता 쀁ꬅ ँिक जो यवुा पुꬅष सब बातो ंमꬅ दूसरो ंका सहारा चाहत ेह,ै जो सदा एक नया अगआु ढूढ़ँा करते
ह縂ꬅ और उनके अनयुायी बना करत ेह縂ꬅ, व ेआᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत।े उ䬀�ꬅ ᘀ┄य ंिवचार
करना अपनी स䜀怆ित आप 䄀欃က�थर करना, दूसरो ंकी उिचत बातो ंका म毿ू� समझत े쀁ꬅय ेभी उनका अधंा भ㜀䀅 न
होना सीखना चािहए। तलुसीदास जी को लोक मꬅ जो इतनी सव縂ꬅिꬅयता और कीित縂ꬅ ꬅा쀍 쀁ꬅई, उनका दीघ縂ꬅ जीवन
जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके
समकालीन केशवदास को द䄀े欃खए, जो जीवनभर िवलासी राजाओ ंके हाथ कठपतुली बन ेरह,े िज䬀�ोनं ेआᘀ윅­
ᘀ┄तंꬅता की ओर कम 䰀洅ान िदया और अतं मꬅ आप अपनी बरुी गित की। िजस मन㠀ु舅 की ब䄀ु欃䨀� और चतरुाई
उसके ꔀ縄ढ़ 縂ꬅदय के  आ�픅य पर 䄀欃က�थर रहती ह,ै वह जीवन और कम縂ꬅ­尀�ेꬅ मꬅ ᘀ┄य ंभी �픅谀े긃 और उ倀㤆म रहता ह ैऔर
दूसरो ंको भी �픅谀े긃 और उ倀㤆म बनाता ह।ै ꬅिस䨀� उप㐀ासकार Ⰰ㜄ॉट एक बार ऋण के बोझ स ेिबलकुल दब गय।े
िमꬅो ंन ेउनकी सहायता करनी चाही पर उ䬀�ोनं ेयह बात ᘀ┄ीकार नही ंकी और ᘀ┄य ंअपनी ꬅितभा का सहारा
लकेर अनके उप㐀ास थोड़ ेसमय के बीच िलखकर लाखो ंꬅपय ेका ऋण अपन ेिसर स ेउतार िदया।

ᄀ윅ान के िपपािसओ ंके िलए उनका िकला कहा ँहोता ह?ै

縂ꬅदय मꬅ

गुꬅ के आ�픅मो ंमꬅ

पजूा­က�थलो ंमꬅ

म䄀欃㴀ᤄᘀ┄ मꬅ

Correct Answer :­縂ꬅदय मꬅ 

4)

Question Stimulus :­
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िन䤀䰄िल䄀欃खत गꀂ灀ाशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके  नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन
करꬅ।

महाराणा ꬅताप िसहं जगंल­जगंल मारे­मारे िफरत ेथ,े अपनी ᴀ꜂ी और ब䬀贃ो ंको भखू स ेतड़पत ेदखेत ेथ,े पर䄀昆ु
उ䬀�ोनं ेउन लोगो ंकी बात नही ंमानी, िज䬀�ोनं ेउ䬀�ꬅ अधीनतापवू縂ꬅक जीत ेरहन ेकी स䜀怆ित दी, ᨀ�ोिंक व ेजानत ेथे
िक अपनी मया縂ꬅदा की िचतंा िजतनी अपन ेको हो सकती ह,ै उतनी दूसरे को नही।ं एक बार एक रोमन
राजनीितक बलवाइयो ंके हाथ मꬅ पड़ गया। बलवाइयो ंन ेउसस े㠀簂⸀ं㤆पवू縂ꬅक पछूा, “अब तरेा िकला कहा ँह”ै
उसन े縂ꬅदय पर हाथ रखकर उ倀㤆र िदया, “यहा”ँ ᄀ윅ान के िजᄀ윅ासओु ंके िलए यही बड़ा भारी गढ़ ह।ै म縂ꬅ िनက� चय
पवू縂ꬅक कहता 쀁ꬅ ँिक जो यवुा पुꬅष सब बातो ंमꬅ दूसरो ंका सहारा चाहत ेह,ै जो सदा एक नया अगआु ढूढ़ँा करते
ह縂ꬅ और उनके अनयुायी बना करत ेह縂ꬅ, व ेआᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत।े उ䬀�ꬅ ᘀ┄य ंिवचार
करना अपनी स䜀怆ित आप 䄀欃က�थर करना, दूसरो ंकी उिचत बातो ंका म毿ू� समझत े쀁ꬅय ेभी उनका अधंा भ㜀䀅 न
होना सीखना चािहए। तलुसीदास जी को लोक मꬅ जो इतनी सव縂ꬅिꬅयता और कीित縂ꬅ ꬅा쀍 쀁ꬅई, उनका दीघ縂ꬅ जीवन
जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके
समकालीन केशवदास को द䄀े欃खए, जो जीवनभर िवलासी राजाओ ंके हाथ कठपतुली बन ेरह,े िज䬀�ोनं ेआᘀ윅­
ᘀ┄तंꬅता की ओर कम 䰀洅ान िदया और अतं मꬅ आप अपनी बरुी गित की। िजस मन㠀ु舅 की ब䄀ु欃䨀� और चतरुाई
उसके ꔀ縄ढ़ 縂ꬅदय के  आ�픅य पर 䄀欃က�थर रहती ह,ै वह जीवन और कम縂ꬅ­尀�ेꬅ मꬅ ᘀ┄य ंभी �픅谀े긃 और उ倀㤆म रहता ह ैऔर
दूसरो ंको भी �픅谀े긃 और उ倀㤆म बनाता ह।ै ꬅिस䨀� उप㐀ासकार Ⰰ㜄ॉट एक बार ऋण के बोझ स ेिबलकुल दब गय।े
िमꬅो ंन ेउनकी सहायता करनी चाही पर उ䬀�ोनं ेयह बात ᘀ┄ीकार नही ंकी और ᘀ┄य ंअपनी ꬅितभा का सहारा
लकेर अनके उप㐀ास थोड़ ेसमय के बीच िलखकर लाखो ंꬅपय ेका ऋण अपन ेिसर स ेउतार िदया।

गꀂ灀ानसुार िकस ꬅकार के यवुा पुꬅष आᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत े?

जो आलसी होत ेह縂ꬅ

जो दबु縂ꬅल सकं컿� के होत ेह縂ꬅ

जो सदा एक नया अगआु ढूढँा करत ेह縂ꬅ

जो कामचोर होत ेह縂ꬅ

Correct Answer :­जो सदा एक नया अगआु ढूढँा करत ेह縂ꬅ 

5)

Question Stimulus :­

िन䤀䰄िल䄀欃खत गꀂ灀ाशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके  नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन
करꬅ।

महाराणा ꬅताप िसहं जगंल­जगंल मारे­मारे िफरत ेथ,े अपनी ᴀ꜂ी और ब䬀贃ो ंको भखू स ेतड़पत ेदखेत ेथ,े पर䄀昆ु
उ䬀�ोनं ेउन लोगो ंकी बात नही ंमानी, िज䬀�ोनं ेउ䬀�ꬅ अधीनतापवू縂ꬅक जीत ेरहन ेकी स䜀怆ित दी, ᨀ�ोिंक व ेजानत ेथे
िक अपनी मया縂ꬅदा की िचतंा िजतनी अपन ेको हो सकती ह,ै उतनी दूसरे को नही।ं एक बार एक रोमन
राजनीितक बलवाइयो ंके हाथ मꬅ पड़ गया। बलवाइयो ंन ेउसस े㠀簂⸀ं㤆पवू縂ꬅक पछूा, “अब तरेा िकला कहा ँह”ै
उसन े縂ꬅदय पर हाथ रखकर उ倀㤆र िदया, “यहा”ँ ᄀ윅ान के िजᄀ윅ासओु ंके िलए यही बड़ा भारी गढ़ ह।ै म縂ꬅ िनက� चय
पवू縂ꬅक कहता 쀁ꬅ ँिक जो यवुा पुꬅष सब बातो ंमꬅ दूसरो ंका सहारा चाहत ेह,ै जो सदा एक नया अगआु ढूढ़ँा करते
ह縂ꬅ और उनके अनयुायी बना करत ेह縂ꬅ, व ेआᘀ윅­सⰀं㜄ार के काय縂ꬅ मꬅ उ⨀촅ित नही ंकर सकत।े उ䬀�ꬅ ᘀ┄य ंिवचार
करना अपनी स䜀怆ित आप 䄀欃က�थर करना, दूसरो ंकी उिचत बातो ंका म毿ू� समझत े쀁ꬅय ेभी उनका अधंा भ㜀䀅 न
होना सीखना चािहए। तलुसीदास जी को लोक मꬅ जो इतनी सव縂ꬅिꬅयता और कीित縂ꬅ ꬅा쀍 쀁ꬅई, उनका दीघ縂ꬅ जीवन

जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके(17)
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जो इतना मह昀㜄मय और शािंतमय रहा, सब इसी मानिसक ᘀ┄तंꬅता और आᘀ윅िनभ縂ꬅरता के कारण। वही ंउनके
समकालीन केशवदास को द䄀े欃खए, जो जीवनभर िवलासी राजाओ ंके हाथ कठपतुली बन ेरह,े िज䬀�ोनं ेआᘀ윅­
ᘀ┄तंꬅता की ओर कम 䰀洅ान िदया और अतं मꬅ आप अपनी बरुी गित की। िजस मन㠀ु舅 की ब䄀ु欃䨀� और चतरुाई
उसके ꔀ縄ढ़ 縂ꬅदय के  आ�픅य पर 䄀欃က�थर रहती ह,ै वह जीवन और कम縂ꬅ­尀�ेꬅ मꬅ ᘀ┄य ंभी �픅谀े긃 और उ倀㤆म रहता ह ैऔर
दूसरो ंको भी �픅谀े긃 और उ倀㤆म बनाता ह।ै ꬅिस䨀� उप㐀ासकार Ⰰ㜄ॉट एक बार ऋण के बोझ स ेिबलकुल दब गय।े
िमꬅो ंन ेउनकी सहायता करनी चाही पर उ䬀�ोनं ेयह बात ᘀ┄ीकार नही ंकी और ᘀ┄य ंअपनी ꬅितभा का सहारा
लकेर अनके उप㐀ास थोड़ ेसमय के बीच िलखकर लाखो ंꬅपय ेका ऋण अपन ेिसर स ेउतार िदया।

 

उपय縂ुꬅ㜀䀅 गꀂ灀ाशं का उपय㜀ु䀅 शीष縂ꬅक दꬅ­

आᘀ윅­सⰀं㜄ार

आᘀ윅स䜀怆ान

मानिसक ᘀ┄तंꬅता

आᘀ윅िवက� वास

Correct Answer :­आᘀ윅िवက� वास 

6)

Question Stimulus :­

िन䤀䰄िल䄀欃खत काက� याशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन करꬅ।

 

सनुा ह ैदधीची का वह 䄀欃ाग, हमारा जातीयता िवकास।

परु⤀ᜅर न ेपिव स ेह ैिलखा, अ䄀欃က�थ यगु का मरेा इितहास।

िसधंसुा िव㴀ᤄतृ और अथाह एक िनवा縂ꬅिसत का उ》ाह।

द ेरहा अभी िदखाई भ⤀ᴃ, म⤀ᴃ र䨀嘅ाकर मꬅ वह राह।

धम縂ꬅ का ल­ेलकेर जो नाम, 쀁ꬅआ करती बिल, कर दी बदं।

हमी ंन ेिदया शािंत सदंशे, सखुी होत ेदकेर सानदं।

िवजय केवल लोह ेकी नही,ं धम縂ꬅ की रही धरा पर धमू।

िभ尀� ुहोकर रहत ेस혂ꬅाट, दया िदखलात ेघर­घर घमू।

 

दधीची न ेᨀ�ा 䄀欃ाग िकया था ?

धन का 䄀欃ाग

शरीर का 䄀欃ाग
(18)
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अपनी अ䄀欃က�थयो ंका 䄀欃ाग

अपन ेꬅत का 䄀欃ाग

Correct Answer :­अपनी अ䄀欃က�थयो ंका 䄀欃ाग 

7)

Question Stimulus :­

िन䤀䰄िल䄀欃खत काက� याशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन करꬅ।

 

सनुा ह ैदधीची का वह 䄀欃ाग, हमारा जातीयता िवकास।

परु⤀ᜅर न ेपिव स ेह ैिलखा, अ䄀欃က�थ यगु का मरेा इितहास।

िसधंसुा िव㴀ᤄतृ और अथाह एक िनवा縂ꬅिसत का उ》ाह।

द ेरहा अभी िदखाई भ⤀ᴃ, म⤀ᴃ र䨀嘅ाकर मꬅ वह राह।

धम縂ꬅ का ल­ेलकेर जो नाम, 쀁ꬅआ करती बिल, कर दी बदं।

हमी ंन ेिदया शािंत सदंशे, सखुी होत ेदकेर सानदं।

िवजय केवल लोह ेकी नही,ं धम縂ꬅ की रही धरा पर धमू।

िभ尀� ुहोकर रहत ेस혂ꬅाट, दया िदखलात ेघर­घर घमू।

 

िनवा縂ꬅिसत िकस ेकहा गया ह ै?

�픅ी कृ㠀挂 को

�픅ी राम को

बधु को

िशव को

Correct Answer :­�픅ी राम को 

8)

Question Stimulus :­

िन䤀䰄िल䄀欃खत काက� याशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन करꬅ।

 

सनुा ह ैदधीची का वह 䄀欃ाग, हमारा जातीयता िवकास।

(19)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


परु⤀ᜅर न ेपिव स ेह ैिलखा, अ䄀欃က�थ यगु का मरेा इितहास।

िसधंसुा िव㴀ᤄतृ और अथाह एक िनवा縂ꬅिसत का उ》ाह।

द ेरहा अभी िदखाई भ⤀ᴃ, म⤀ᴃ र䨀嘅ाकर मꬅ वह राह।

धम縂ꬅ का ल­ेलकेर जो नाम, 쀁ꬅआ करती बिल, कर दी बदं।

हमी ंन ेिदया शािंत सदंशे, सखुी होत ेदकेर सानदं।

िवजय केवल लोह ेकी नही,ं धम縂ꬅ की रही धरा पर धमू।

िभ尀� ुहोकर रहत ेस혂ꬅाट, दया िदखलात ेघर­घर घमू।

 

‘धम縂ꬅ के नाम पर बिल’ स ेᨀ�ा आशय ह?ै

पशबुिल

नरबिल

राजाबिल

बलशाली

Correct Answer :­पशबुिल 

9)

Question Stimulus :­

िन䤀䰄िल䄀欃खत काက� याशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन करꬅ।

 

सनुा ह ैदधीची का वह 䄀欃ाग, हमारा जातीयता िवकास।

परु⤀ᜅर न ेपिव स ेह ैिलखा, अ䄀欃က�थ यगु का मरेा इितहास।

िसधंसुा िव㴀ᤄतृ और अथाह एक िनवा縂ꬅिसत का उ》ाह।

द ेरहा अभी िदखाई भ⤀ᴃ, म⤀ᴃ र䨀嘅ाकर मꬅ वह राह।

धम縂ꬅ का ल­ेलकेर जो नाम, 쀁ꬅआ करती बिल, कर दी बदं।

हमी ंन ेिदया शािंत सदंशे, सखुी होत ेदकेर सानदं।

िवजय केवल लोह ेकी नही,ं धम縂ꬅ की रही धरा पर धमू।

िभ尀� ुहोकर रहत ेस혂ꬅाट, दया िदखलात ेघर­घर घमू।

 

‘लोह ेकी िवजय’ स ेᨀ�ा आशय ह ै?

(20)
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मशीनो ंकी जीत

हिथयारो ंके बल पर जीत

लोह ेका कारोबार

लोहा मनवाना

Correct Answer :­हिथयारो ंके बल पर जीत 

10)

Question Stimulus :­

िन䤀䰄िल䄀欃खत काက� याशं को 䰀洅ानपवू縂ꬅक पढ़कर उसके नीच ेिदय ेगय ेब쀁ꬅिवक컿�ी ꬅက� नो ंमꬅ सही िवक컿� का चयन करꬅ।

 

सनुा ह ैदधीची का वह 䄀欃ाग, हमारा जातीयता िवकास।

परु⤀ᜅर न ेपिव स ेह ैिलखा, अ䄀欃က�थ यगु का मरेा इितहास।

िसधंसुा िव㴀ᤄतृ और अथाह एक िनवा縂ꬅिसत का उ》ाह।

द ेरहा अभी िदखाई भ⤀ᴃ, म⤀ᴃ र䨀嘅ाकर मꬅ वह राह।

धम縂ꬅ का ल­ेलकेर जो नाम, 쀁ꬅआ करती बिल, कर दी बदं।

हमी ंन ेिदया शािंत सदंशे, सखुी होत ेदकेर सानदं।

िवजय केवल लोह ेकी नही,ं धम縂ꬅ की रही धरा पर धमू।

िभ尀� ुहोकर रहत ेस혂ꬅाट, दया िदखलात ेघर­घर घमू।

 

कौन­सा स혂ꬅाट िभ尀� ुबन गया था ?

अशोक

गौतम ब䨀ु�

िब儀ᴃसार

राम

Correct Answer :­अशोक 

11)

Question Stimulus :­

‘‘िनस+्स ं’’ उपसग縂ꬅ िकस श⤀ฆ द मꬅ ह?ै

(21)
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िनꬅ》ाह

िनरिभमान

िन㠀挂कंोच

इनमꬅ स ेकोई नहीं

Correct Answer :­िन㠀挂कंोच 

12)

Question Stimulus :­

‘आव’ ꬅ䄀欃य िकस श⤀ฆ द मꬅ ह?ै

अटकाव

दरुाव

सलुझाव

उपय縂ुꬅ㜀䀅 सभी

Correct Answer :­उपय縂ुꬅ㜀䀅 सभी 

13)

Question Stimulus :­

िन䤀䰄िल䄀欃खत मꬅ सही महुावरे का चयन कीिजए­

आखँ की लाली

आखँ की गठुली

आखँ का तारा

आखँ का बाल

Correct Answer :­आखँ का तारा 

14)

Question Stimulus :­

“ब쀁ꬅत सी भाषाओ ंको जानन ेवाला” वाᨀ� के िलए उपय㜀ु䀅 श⤀ฆ द होगा ?

ब쀁ꬅभाषी

(22)
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ब쀁ꬅदशꬅ

ब쀁ꬅभाषािवद्

ब쀁ꬅतᄀ윅ानी

Correct Answer :­ब쀁ꬅभाषािवद् 

15)

Question Stimulus :­

िदय ेगय ेवाᨀ�ाशं के िलए एक श⤀ฆ द का ꬅयोग कीिजए­

‘िजसका नाम सबस ेपहल ेिलया जाता ह’ै

सव縂ꬅ�픅谀े긃

ꬅथम Ⰰꠃरणीय

अꬅग㄀Ѕ

सव縂ꬅनाम

Correct Answer :­अꬅग㄀Ѕ 

16)

Question Stimulus :­

‘प䄀ं欃㜀䀅’ श⤀ฆ द का त℀脅व होगा­

पाचँ

पातँ

पाद

पण縂ꬅ

Correct Answer :­पातँ 

17)

Question Stimulus :­

‘आलोक’ का िवपरीताथ縂ꬅक पद होगा­

दी䄀欃쀍

䐀�ोित
(23)
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ꬅकाश

अधंकार

Correct Answer :­अधंकार 

18)

Question Stimulus :­

‘पड़े’ का पया縂ꬅयवाची नही ंह­ै

ꬅमु

पादप

िवटप

इनमꬅ स ेकोई नहीं

Correct Answer :­इनमꬅ स ेकोई नही ं

19)

Question Stimulus :­

‘महा+औषध’ का सिंध श⤀ฆ द होगा­

महाऔषध

महौषध

महासद

महासध

Correct Answer :­महौषध 

20)

Question Stimulus :­

‘वागीश’ मꬅ सिंध ह­ै

ᘀ┄र सिंध

㠀簂जंन सिंध

िवसग縂ꬅ सिंध

(24)
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दीघ縂ꬅ सिंध

Correct Answer :­㠀簂जंन सिंध 

21)

Question Stimulus :­

‘गायक’ का सिंध िव樀猄दे कीिजए­

गाय+अक

ग+ेअक

ग+ैअक

ग+ैइक

Correct Answer :­ग+ैअक 

22)

Question Stimulus :­

‘कत縂ꬅ㠀簂 परायणता’ श⤀ฆ द मꬅ समास पहचािनए­

कम縂ꬅ त灐ुꬅष

सबंधं त灐ुꬅष

अिधकरण त灐ुꬅष

करण त灐ुꬅष

Correct Answer :­अिधकरण त灐ुꬅष 

23)

Question Stimulus :­

‘मदृवुाणी’ मꬅ पवू縂ꬅ पद ‘मदृ’ु ............ ह­ै

िवश㠀े舅

िवशषेण

िवश㠀े舅­िवशषेण

इनमꬅ स ेकोई नहीं

(25)
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Correct Answer :­िवशषेण 

24)

Question Stimulus :­

अनकेाथ縂ꬅक श⤀ฆ द ‘गुꬅ’ के िलए िन䤀䰄 मꬅ स ेगलत िवक컿� का चयन कीिजए­

िश尀�क

उ℀嘅ोच

माता­िपता

छंद मꬅ दीघ縂ꬅ

Correct Answer :­उ℀嘅ोच 

25)

Question Stimulus :­

अनकेाथ縂ꬅक श⤀ฆ द ‘काल’ के िलए िन䤀䰄 मꬅ स ेगलत िवक컿� का चयन कीिजए­

कामदवे

शꬅु

यमराज

समय

Correct Answer :­कामदवे 

26)

Question Stimulus :­

िन䤀䰄 िवक컿�ो ंमꬅ स ेएक वाᨀ� सही ह,ै सही वाᨀ� का चयन कीिजए­

एक िकलो आलओु ंको लाओ

एक िकलो आल ूलाओ

एक िकलो आलएुँ लाओ

उपय縂ुꬅ㜀䀅 सभी

Correct Answer :­एक िकलो आल ूलाओ 

27)
(26)
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27)

Question Stimulus :­

िन䤀䰄 मꬅ स ेएक वाᨀ� गलत ह,ै गलत वाᨀ� का चयन कीिजए­

तमु चलो म縂ꬅ आता 쀁ꬅँ

उसन ेचारो­पाचँो ंजलबेी खाई

दूध मꬅ ᨀ�ा पड़ गया

म縂ꬅ रातभर जागता रहा

Correct Answer :­उसन ेचारो­पाचँो ंजलबेी खाई 

28)

Question Stimulus :­

‘‘जो धन कमात ेहो उसमꬅ स ेथोड़ा अवက� य बचाना चािहए’’ मꬅ वाᨀ� का ꬅकार पहचािनए­

िविधवाचक

िवⰀꠃयवाचक

ꬅက� नवाचक

इ樀猄ावाचक

Correct Answer :­इ樀猄ावाचक 

29)

Question Stimulus :­

िन䤀䰄 मꬅ श䨀ु� वत縂ꬅनी पहचािनए­

प䨀✄रणती

जला뫿Ⰲजली

वा꼂�ीिक

ितथी

Correct Answer :­वा꼂�ीिक 

30)

Question Stimulus :­

(27)
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िन䤀䰄 मꬅ अश䨀ु� वत縂ꬅनी पहचािनए­

अ㐀थः

िवशषेतः

सामा㐀तः

प䨀✄रणामतः

Correct Answer :­अ㐀थः 

31)

Question Stimulus :­

‘‘एक तो करेला दूजा नीम चढ़ा’’ लोको䄀欃㜀䀅 का अथ縂ꬅ ह­ै

असभंव काय縂ꬅ

एक गणु दो दगु縂ुꬅण

दोहरा सद्गुण

दोहरा दगु縂ुꬅण

Correct Answer :­दोहरा दगु縂ुꬅण 

32)

Question Stimulus :­

नीच ेप䄀ं欃㜀䀅यो ंके सामन ेउनके अथ縂ꬅ िलख ेह縂ꬅ। इनमꬅ स ेगलत अथ縂ꬅ वाली प䄀ं欃㜀䀅 छािंटए­

लगंोटी मꬅ फाग खलेना ­ द䨀✄रꬅता मꬅ आनदं

गाल बजाना ­ डीगं मारना

पटरी बठैना ­ िवचार िमलना

कौड़ी का तीन ­ ब쀁ꬅत अ樀猄ा होना

Correct Answer :­कौड़ी का तीन ­ ब쀁ꬅत अ樀猄ा होना 

33)

Question Stimulus :­

िन䤀䰄 अन樀ु猄दे का स尀ं�पेण कीिजए­

(28)
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पराधीनता का अथ縂ꬅ ह ैिकसी के अधीन होना। िकसी और के इशारे पर िज⤀ᜅगी जीना। ऐसी िज⤀ᜅगी जीन ेमꬅ कोई रस नही ंह।ै सभी
मानव अपनी तरह के ह縂ꬅ। उ䬀�ꬅ सतं㠀ु�ी अपन ेढ़गं स ेिमलती ह ैइसिलए व ेअपन ेमन स ेकम縂ꬅ करत ेह縂ꬅ। कोई दूसरा 㠀簂䄀欃㜀䀅 उ䬀�ꬅ मनमाने
ढगं स ेचलाता ह ैतो उ䬀�ꬅ ब쀁ꬅत घटुन होती ह।ै िपजंरे मꬅ बदं प尀ं�ी भी यही कामना करता ह­ै

न अ䜀怆ा न दादी द,े चाह ेरोटी आधी द।े

पर त ूमरेा िपजंरा खोल, उड़न ेकी आजादी द।े।

ᘀ┄तंꬅता की र尀�ा

परिहत सरस धम縂ꬅ नही ंभाई

पराधीन सपन े쀁ꬅ ँसखु नािंह

उपय縂ुꬅ㜀䀅 सभी

Correct Answer :­पराधीन सपन े쀁ꬅ ँसखु नािंह 

34)

Question Stimulus :­

िन䤀䰄 पहलेी के सही उ倀㤆र का चयन कीिजए­

छोटी सी छोकरी, लालबाई नाम।

पहन ेवह घाघरा एक पसै ेदाम।।

गाजर

िमचꬅ

चकुंदर

टमाटर

Correct Answer :­िमचꬅ 

35)

Question Stimulus :­

िन䤀䰄 पहलेी के सही उ倀㤆र का चयन कीिजए­

आरकस बारकस नौ सौ खटूा।

गाय छे मारकणई दूध छे मीठा।

घोसंला

मधमु렁欈ी का छ倀㤆ा

(29)
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मकड़ी का जाल

इनमꬅ स ेकोई नहीं

Correct Answer :­मधमु렁欈ी का छ倀㤆ा 

36)

Question Stimulus :­

က�थायी भाव जाꬅत होन ेपर होन ेवाली शारी䨀✄रक च㠀�ाओ ंको ......... कहा जाता ह­ै

िवभाव

अनभुाव

सचंारीभाव

က�थायीभाव

Correct Answer :­अनभुाव 

37)

Question Stimulus :­

िन䤀䰄 प䄀ं欃㜀䀅 मꬅ छंद पहचािनए­

‘‘मात ृभ ूसी मात ृभ ूह,ै अ㐀 स ेतलुना नही।ं

भ㠀簂 भावो ंमꬅ भयानक, भावना भरना नही ं॥’’

गीितका

बसतंितिलका

इिंꬅरा

ᘀ┄ागता

Correct Answer :­गीितका 

38)

Question Stimulus :­

िन䤀䰄 प䄀ं欃㜀䀅 मꬅ छंद पहचािनए­

“नीला儀ᴃर प䨀✄रधान ह䨀✄रत पट पर सुंदर है

सयू縂ꬅ चꬅ यगु­मकुुट,मखेला र䨀嘅ाकार है

(30)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


निदया ँꬅमे­ꬅवाह, फूल तारे मडंल ह縂ꬅ

बदंीजन खग­वृंद, शषेफन िसहंासन ह縂ꬅ”

बरवै

ꬅितभा

सरसी

रोला

Correct Answer :­रोला 

39)

Question Stimulus :­

िन䤀䰄 प䄀ं欃㜀䀅यो ंमꬅ अलकंार पहचािनए­

‘‘ꬅमे अिमय मदंर िवर쀁ꬅ, भरत पयोिध गभंीर।

मिथ ꬅगटउे सरु साधिुहत कृपा िसधं ुरघवुीर।।’’

ꬅपक अलकंार

उपमा अलकंार

सदंहे अलकंार

ꬅािंतमान अलकंार

Correct Answer :­ꬅपक अलकंार 

40)

Question Stimulus :­

म䰀洅 ꬅदशे की पहली मािसक पिꬅका 1915 मꬅ िकस नगर मꬅ ꬅकािशत 쀁ꬅई ?

भोपाल

इदंौर

☀嘅ािलयर

जबलपरु

Correct Answer :­इदंौर 

41)
(31)
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Question Stimulus :­

िन䤀䰄 मꬅ स ेकौन सी पिꬅका भोपाल स ेꬅकािशत होती ह ै?

वसधुा

सा尀�ा℀嘅ार

पवूा縂ꬅꬅह चमैासा

उपरो㜀䀅 सभी

Correct Answer :­उपरो㜀䀅 सभी 

42)

Question Stimulus :­

िन䤀䰄 िल䄀欃खत 6 वाᨀ�ाशो ंमꬅ स ेꬅथम व अिंतम िनि㠀䐄त ह縂ꬅ, शषे को उिचत ꬅम मꬅ 㠀簂व䄀欃က�थत कीिजए।

(1) कबीर अकेल ेसतं किव ह縂ꬅ

(य) को सवꬅ　윅 म毿ू� के

(र) िज䬀�ोनं ेसम㴀ᤄ धािम縂ꬅक

(ल) नकार कर सहज जीवन­प䨀�ित

(व) आड儀ᴃरो ंएव ंबा��ाचारो ंको

(6) ꬅप मꬅ ꬅिति谀긃त िकया है

र व ल य

य र ल व

व र य ल

र ल य व

Correct Answer :­र व ल य 

43)

Question Stimulus :­

िन䤀䰄 िल䄀欃खत 6 वाᨀ�ाशो ंमꬅ स ेꬅथम व अिंतम िनि㠀䐄त ह縂ꬅ, शषे को उिचत ꬅम मꬅ 㠀簂व䄀欃က�थत कीिजए।

(1) िव䌀� की रंग सⰀंृ㜄ितयो ंमꬅ

(य) तथा अनपुम सौदंय縂ꬅ ꔀ縄ि㠀�

(र) अपनी ꬅाचीनता, अनोखी क컿�नाशीलता

(32)
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(ल) भारतीय रंगमचं पर䠀ꈃरा

(व) के कारण आज भी

(6) अपना िविश㠀� က�थान रखता है

य र ल व

व ल र य

ल र य व

र ल य व

Correct Answer :­ल र य व 

44)

Question Stimulus :­

अभी­अभी राधा सो गई ह?ै

समा㐀 भतूकाल

आस⨀촅 भतूकाल

पणू縂ꬅ वत縂ꬅमान काल

सिंद� पणू縂ꬅ वत縂ꬅमान काल

Correct Answer :­आस⨀촅 भतूकाल 

45)

Question Stimulus :­

“ꬅित वष縂ꬅ नदी मꬅ बाढ़ आ जाती ह”ै वाᨀ� मꬅ िकस ꬅकार की सᄀं윅ा है

㠀簂䄀欃㜀䀅वाचक

जाितवाचक

भाववाचक

गणुवाचक

Correct Answer :­जाितवाचक 

46)

Question Stimulus :­
(33)
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‘‘ कामायनी ’’ महाका㠀簂 के रचनाकार का नाम ह­ै

रामधारीिसहं िदनकर

केशवदास

जयशकंर ꬅसाद

चदंवरदाई

Correct Answer :­जयशकंर ꬅसाद 

47)

Question Stimulus :­

िशက� य के ꀂ灀ारा गुꬅ को पꬅ मꬅ सबंोधन होगा­

िꬅय गुꬅजी

�픅䨀�ये गुꬅजी

सꬅमे नमက� ते

भवदीय

Correct Answer :­�픅䨀�ये गुꬅजी 

48)

Question Stimulus :­

सामािजक पꬅ के अ뫿Ⰲ तग縂ꬅत िन⤀ฆ न मꬅ स ेकौन सा पꬅ आता ह?ै

पကु� तक मगंान ेहते ुपꬅ

बधाई पꬅ

श需ु⠅ क माफ करन ेहतेु

इनमꬅ स ेकोई नहीं

Correct Answer :­बधाई पꬅ 

49)

Question Stimulus :­

“कꬅणा कादिंबनी” रचना के रचनाकार का नाम चिुनए­

अ䄀欃儀ᴃकाद뫿Ⰲ त बाजपयेी
(34)
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गया ꬅसाद श봀ु縄 ल

म䄀ु欃㜀䀅 बोध

डॉ. िवनय

Correct Answer :­गया ꬅसाद श봀ु縄 ल 

50)

Question Stimulus :­

िन⤀ฆ न मꬅ स ेकौन सी रचना “सिुमꬅा नदंन पतं” की ह?ै

ꬅभात फेरी

쀁ꬅकंार

बढ़ूा चादँ

उिम縂ꬅला

Correct Answer :­बढ़ूा चादँ 

51)

Question Stimulus :­

नीच ेिलख ेवाᨀ� मꬅ कौन सा िवराम िच䬀� छूटा ह­ै

ख錃रधारी राजनतेा दशे को गलुाम बनाकर छोड़ꬅग।े

को谀긃क िच䬀�

पणू縂ꬅ िवराम

लोप िवराम िच䬀�

अवतरण िवराम िच䬀�

Correct Answer :­को谀긃क िच䬀� 

52)

Question Stimulus :­

िकस वाᨀ� मꬅ सही िवराम िच䬀�ो ंका ꬅयोग 쀁ꬅआ ह?ै

अ㐀ाय, अ㐀ाय; सरासर अ㐀ाय!

अ㐀ाय; अ㐀ाय; सरासर अ㐀ाय!
(35)
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अ㐀ाय! अ㐀ाय!! सरासर अ㐀ाय!!!

अ㐀ाय। अ㐀ाय। सरासर अ㐀ाय।

Correct Answer :­अ㐀ाय! अ㐀ाय!! सरासर अ㐀ाय!!! 

53)

Question Stimulus :­

“एक आखँ स ेदखेना” महुावरे का सही अथ縂ꬅ ह­ै

एक आखँ वाला က� य䄀欃㜀䀅

उिचत­अनिुचत का िवचार करना

उिचत­अनिुचत का िवचारिकए िबना က� यवहार करना

समानता का က� यवहार करना

Correct Answer :­समानता का က� यवहार करना 

54)

Question Stimulus :­

“यथा राजा तथा ꬅजा” लोको䄀欃㜀䀅 का सही अथ縂ꬅ ह­ै

जसैा राजा करेगा ꬅजा के साथ वसैा ही होगा

जसैा तमु दूसरो ंके साथ करोग ेवसैा ही दूसरे त䤀ुᴃारे साथ करꬅगे

ᘀ┄ामी के अनसुार सवेक भी होत ेह縂ꬅ

जसैा ᘀ┄ामी चहगेा अनचुर वसैा ही करꬅगे

Correct Answer :­ᘀ┄ामी के अनसुार सवेक भी होत ेह縂ꬅ 

55)

Question Stimulus :­

िन䤀䰄 मꬅ स े、ᘀ┄ ᘀ┄र कौन स ेह縂ꬅ?

क, अ, प, आ

अ, ई, उ, ऊ

अ, इ, उ, ऋ

(36)
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आ, ई, ऊ, ऋ

Correct Answer :­अ, इ, उ, ऋ 

56)

Question Stimulus :­

‘ष’ वण縂ꬅ ह­ै

द䄀ं欃

म䨀ू�縂ꬅ㐀

ताल㠀簂

कက�Ⰰ�

Correct Answer :­म䨀ू�縂ꬅ㐀 

57)

Question Stimulus :­

रचना की ꔀ縄ि㠀� स ेवा봀縄 य िकतन ेꬅकार के होत ेह縂ꬅ?

दो

तीन

पाचं

चार

Correct Answer :­तीन 

58)

Question Stimulus :­

िन䤀䰄 श䨀�­य쟿ुꨂ के िवक컿�ो ंमꬅ स ेसही अथ縂ꬅ­भदे का चयन कीिजए­

‘टकु­टूक’

थोड़ा­टकुड़ा

थोड़ा­कम

थोड़ा­अिधक

टकुड़ा­टकु
(37)
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Correct Answer :­थोड़ा­टकुड़ा 

59)

Question Stimulus :­

िन䤀䰄 श䨀� य쟿ुꨂ के िवक컿�ो ंमꬅ कोई एक िवक컿� सही नही ंह।ै गलत य쟿ुꨂ का चयन कीिजए­

पािण­पानी

फल­फाल

पास­िनकट

ꬅहार­प䨀✄रहार

Correct Answer :­पास­िनकट 

60)

Question Stimulus :­

िकस समहू के सभी श䨀� पया縂ꬅयवाची ह縂ꬅ?

दप縂ꬅण, आइना, काचँ, मकुुर

गात, तन, घट, घड़ा

अनल, नयार, अिनल, समीर

रिव, हसं, पतगं, सरोज

Correct Answer :­दप縂ꬅण, आइना, काचँ, मकुुर 

61)

Question Stimulus :­

‘नराधम’ का िवलोम चिुनय:े­

अधम

नरपुंगव

िनकृ㠀�

अ樀猄ा

Correct Answer :­नरपुंगव 

62)
(38)
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62)

Question Stimulus :­

िन䤀䰄 मꬅ स ेकौन सा त℀脅व श䨀� ह?ै

िदनकर

िदवाकर

ꬅभाकर

सरूज

Correct Answer :­सरूज 

63)

Question Stimulus :­

िजन प䄀ं欃㜀䀅यो ंको पढ़कर मन मꬅ ममता के भाव आए, तो वहा ँिकस रस की िनက� पि倀㤆 होती ह?ै

�픅ृंगार रस

वीर रस

वाက� स需⠅ य रस

इनमꬅ स ेकोई नहीं

Correct Answer :­वाက� स需⠅ य रस 

64)

Question Stimulus :­

“जलता ह ैयह जीवन­पतगं मꬅ उपमये ह­ै”

जीवन

पतगं

जीवन­पतगं

जलता

Correct Answer :­जीवन 

65)

Question Stimulus :­

(39)
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‘स⤀ฆ मखु’ मꬅ उपसग縂ꬅ ह­ै

सम

समा

सम्

स

Correct Answer :­सम ्

66)

Question Stimulus :­

िन䤀䰄 मꬅ स ेिकस मꬅ सही सामािसक पद ह?ै

पुꬅᘀ┄त

िदवारािꬅ

पा䨀✄रजात

इनमꬅ स ेकोई नहीं

Correct Answer :­िदवारािꬅ 

67)

Question Stimulus :­

िन䤀䰄 मꬅ स ेिकस श䨀� मꬅ ‘इन’ अथवा ‘ई’ ꬅ䄀欃य नही ंह?ै

अथꬅ

ह㴀ᤄी

पिंडताइन

रोगी

Correct Answer :­पिंडताइन 

68)

Question Stimulus :­

िꬅयस縂ꬅन के अनसुार­ भारत मꬅ िकतनी बोिलया ँह縂ꬅ?

525
(40)
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515

544

550

Correct Answer :­544 

69)

Question Stimulus :­

पहला िव䌀� िहदंी स䜀怆लेन कहा ँ쀁ꬅआ?

पटना

नागपरु

कलक倀㤆ा

मरेठ

Correct Answer :­नागपरु 

70)

Question Stimulus :­

खड़ी बोली का मलू नाम ह­ै

मिैथली

कौरवी

अवधी

भोजपरुी

Correct Answer :­कौरवी 

Topic:­ General Knowledge 
1)

Question Stimulus :­

Which sector is the largest employer in India? / कौन­सा 尀�ेꬅ भारत मꬅ सबस ेबड़ा िनयोजक 尀�ेꬅ ह?ै

Indian Armed Forces / भारतीय सशᴀ꜂ बल

Indian Railways / भारतीय रेल

(41)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


National Health Service / रा㠀�縂ꬅीय ᘀ┄ा㠀꤃ सवेा

Banking / ब縂ꬅिकंग

Correct Answer :­Indian Railways / भारतीय रेल 

2)

Question Stimulus :­

Match the following and select the correct answer from the codes given below:
/ िन䤀䰄 को िमलाएँ और नीच ेिदए गए कोडो ंके आधार पर सही उ倀㤆र का चयन करꬅ:

    List­I                   List­II

1. Kerala                    a. Golden temple

2. Uttar Pradesh         b. Siddhi Vinayak temple

3. Maharashtra           c. Kashi Viswanath Temple

4. Punjab                   d. Padmanabhaswamy Temple

    सिूच­I                      सिूच­II

1. केरल                      a. ᘀ┄ण縂ꬅ मिंदर

2. उ倀㤆र ꬅदशे                b. िस䄀欃䨀�िवनायक मिंदर

3. महारा㠀�縂ꬅ                   c. काशी िव䌀�नाथ मिंदर

4. पजंाब                      d. प笂नाभᘀ┄ामी मिंदर

1­d, 2­c, 3­b, 4­a

1­d, 2­c, 3­a, 4­b

1­c, 2­d, 3­b, 4­a

1­d, 2­b, 3­c, 4­a

Correct Answer :­1­d, 2­c, 3­b, 4­a 

3)

Question Stimulus :­

What is the time difference between longitudes? / रेखाशं के बीच समय का ᨀ�ा अतंर होता ह ै?

2 minute 4 seconds / 2 िमनट 4 सकै盿栆

(42)
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4 second / 4 सकै盿栆

4 minute / 4 िमनट

4 minute 2 second / 4 िमनट 2 सकै盿栆

Correct Answer :­4 minute / 4 िमनट 

4)

Question Stimulus :­

Which of the following types of coal contains over 90 percent carbon and is smokeless? / कोयल ेके िन䤀䰄 ꬅकारो ंमꬅ
स ेिकसमꬅ 90 ꬅितशत कॉब縂ꬅन होता ह ैऔर वह धआु ँरिहत ह?ै

Peat / पीट

Bituminous coal /  िबटमुनेी कोयला

Lignite / िल⤀ᴃाइट )भरूा कोयला(

Anthracite / एंꬅासाईट

Correct Answer :­Anthracite / एंꬅासाईट 

5)

Question Stimulus :­

What does 'XP' in Microsoft Windows XP stand for? माइꬅोसॉက�ट िवडंोज ए一贃 पी मꬅ "ए一贃 पी" का ᨀ�ा अथ縂ꬅ
ह?ै

Extra Product / ए⤀嘅縂ꬅा ꬅोड漀�

Experience / ए縄पी䨀✄रयꬅस

Entry Product / एंट縂ꬅी ꬅोड漀�

Extra Power / ए⤀嘅縂ꬅा पॉवर

Correct Answer :­Experience / ए縄पी䨀✄रयꬅस 

6)

Question Stimulus :­

Which of the following is not a security or privacy threat? / इनमꬅ स ेएक स ेसरु尀�ा या गोपनीयता का खतरा नही ंह?ै

Piggybacking / िपगीबिैकंग

(43)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Cracking / ꬅिकंग

Virus / वाइरस

Debugging / िडबिगगं

Correct Answer :­Debugging / िडबिगगं 

7)

Question Stimulus :­

The main watershed of most of the peninsular river lies in the_____ / अिधकाशं ꬅायꀂ灀ीपीय निदयों
का म䴀ु� जलिवभाजक_____मꬅ पाया जाता है

Aravalli Hills / आरोवली पव縂ꬅत

Rajmahal Hills / राजमहाल िह㴀ᤄ

Western Ghats / पि㠀䐄मी घाटी

Siwalik Hills / िशवािलक पव縂ꬅत

Correct Answer :­Western Ghats / पि㠀䐄मी घाटी 

8)

Question Stimulus :­

Which of the following is the largest peninsula is the world? / िन䤀䰄िल䄀欃खत मꬅ स ेकौन िव䌀� का सबस ेबड़ा ꬅायꀂ灀ीप ह?ै

Arabian Peninsula / अरबी ꬅायꀂ灀ीप

Indian peninsula / भारतीय ꬅायꀂ灀ीप

Malay Peninsula / मलय ꬅायꀂ灀ीप

None of the above / उपरो㜀䀅 कोई नहीं

Correct Answer :­Arabian Peninsula / अरबी ꬅायꀂ灀ीप 

9)

Question Stimulus :­

Dollu Kunitha is a famous drum dance of ______. / डो꼀ꨂ ूकुिनथा ­­­­­­­­­­­  का  ꬅिस䨀� ड縂ꬅम न䄀ृ欃 ह।ै

Karnataka / कना縂ꬅटक

Kerala / केरल
(44)
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Telangana / तलेगंाना

Tamilnadu / तिमल नाडु

Correct Answer :­Karnataka / कना縂ꬅटक 

10)

Question Stimulus :­

Which among the following was first metal used by man? / िन䤀䰄 मꬅ स ेकौन सी धात ुमन㠀ु舅 ꀂ灀ारा सबस ेपहले
उपयोग की गई थी?

Silver / चादंी

Diamond / हीरा

Copper / ताबंा

Iron / लौह

Correct Answer :­Copper / ताबंा 

11)

Question Stimulus :­

Which of the following state is in the border of Tripura? / िन䤀䰄 मꬅ स ेकौन सा रा䐀� िꬅपरुा की सीमा मꬅ ह?ै

Bihar / िबहार

Sikkim / िस䄀欃頁⬈म

Arunachal Pradesh / अꬅणाचल ꬅदशे

Mizoram/ मिणपरु

Correct Answer :­Mizoram/ मिणपरु 

12)

Question Stimulus :­

Soor Sarovar Bird Sanctuary is located in which district of Uĥar Pradesh? / सरू सरोवर प尀�ी अभयार㄀Ѕ उ倀㤆र ꬅदशे के
िकस िजल ेमꬅ 䄀欃က�थत ह?ै

Allahabad / इलाहाबाद

Aligarh / अलीगढ़
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Agra / आगरा

Azamgarh / आजमगढ़

Correct Answer :­Agra / आगरा 

13)

Question Stimulus :­

Which of the following Indian States is called the Land of The Rising Sun? / िन䤀䰄िल䄀欃खत भारतीय रा䐀�ो ंमꬅ स ेकौन सा,
उगत ेसरूज की भिूम कहा जाता ह?ै

Madhya Pradesh / म䰀洅 ꬅदशे

Uttar Pradesh / उ倀㤆र ꬅदशे

Arunachal Pradesh / अꬅणाचंल ꬅदशे

Himachal Pradesh / िहमाचल ꬅदशे

Correct Answer :­Arunachal Pradesh / अꬅणाचंल ꬅदशे 

14)

Question Stimulus :­

In which of the following countries is the Temple of Tooth located? / िन䤀䰄 मꬅ स ेिकस दशे मꬅ, दातं का मिंदर 䄀欃က�थत ह?ै

India / भारत

Sri Lanka / �픅ी लकंा

Nepal / नपेाल

Bhutan / भटूान

Correct Answer :­Sri Lanka / �픅ी लकंा 

15)

Question Stimulus :­

London is located across the ___________river. / लदंन___________ नदी के पार 䄀欃က�थत ह।ै

Danube / ड㐀ेबू

Subterranean / भिूमगत

Lea / िलआ
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Thames / थ⤀े⤄

Correct Answer :­Thames / थ⤀े⤄ 

16)

Question Stimulus :­

Who among the following was India’s first one­day cricket captain? / िन䤀䰄िल䄀欃खत मꬅ स ेकौन भारत के पहल ेएक
िदवसीय िꬅकेट क쀍ान थ?े

Ajit Wadekar / अजीत वाडकेर

Sourav Ganguly / सौरभ गागुँली

Sunil Gavaskar / सनुील गावⰀ㜄र

Mohammed Azharuddin / मोह䜀怆द अजहꬅ錃ीन

Correct Answer :­Ajit Wadekar / अजीत वाडकेर 

17)

Question Stimulus :­

Which cricketer has recorded the fastest century in Test match history? / ट㴀े뜃 िꬅकेट के इितहास मꬅ िकस िꬅकेटर ने
सबस ेतजे शतक दज縂ꬅ िकया ?

AB de Villiers / ए बी डी िव䄀欃꼀ꨂयस縂ꬅ

Virat Kohli / िवराट कोहली

David Warner / डिेवड वान縂ꬅर

Brendon McCullum / ꬅनेडन मकेकॅ꼀ꨂम

Correct Answer :­Brendon McCullum / ꬅनेडन मकेकॅ꼀ꨂम 

18)

Question Stimulus :­

Who among the following is known as ‘Kangaroos’ /  िन䤀䰄 मꬅ स ेकौन ‘कंगाꬅ’ कहलात ेह縂ꬅ

South Africa / दि尀�ण अिꬅका

Australia / ऑ㴀뜃縂ेꬅिलया

England / इगंल縂ꬅड
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Sri Lanka / �픅ीलकंा

Correct Answer :­Australia / ऑ㴀뜃縂ेꬅिलया 

19)

Question Stimulus :­

Where was 2nd Asian All Star Athletics Championship organized in September 2008? / िसत儀ᴃर 2008 मꬅ
कहा ँसकेंड एिशयन ऑल 㴀뜃ार एथलिेट一贃 च䄀ै欃䠀ꈃयनिशप आयोिजत करी गयी थी ?

Mysore  / मसैरू

Mumbai / मुंबई

Bhopal / भोपाल

Kolkata / कोलकाता

Correct Answer :­Bhopal / भोपाल 

20)

Question Stimulus :­

Which among the following is NOT member of SAARC?/   िन䤀䰄 मꬅ कौन सा SAARC का सद䌀� नही ंह?ै

Nepal / नपेाल

Maldives / मालदीव

Iran / ईरान

Sri Lanka / �픅ीलकंा

Correct Answer :­Iran / ईरान 

21)

Question Stimulus :­

____________ is the successor body of the Company Law Board. / ____________ कंपनी लॉ बोड縂ꬅ का उ倀㤆रािधकारी िनकाय
ह।ै

National Company Law Tribunal / रा㠀�縂ꬅीय क䠀ꈃनी िविध अिधकरण

Income Tax Appellate Tribunal / आयकर अपीलीय अिधकरण

Central Administrative Tribunal / कꬅꬅीय ꬅशासिनक अिधकरण
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Securities Appellate Tribunal / ꬅितभिूत अपीलीय अिधकरण

Correct Answer :­National Company Law Tribunal / रा㠀�縂ꬅीय क䠀ꈃनी िविध अिधकरण 

22)

Question Stimulus :­

Which among the following is the largest sugarcane producing State of India / िन䤀䰄 मꬅ स ेकौन सा रा䐀� भारत का
सबस ेबड़ा ग⨀촅ा उद्पादक रा䐀� ह?ै

Maharashtra / महारा㠀�縂ꬅ

Karnataka / कना縂ꬅटक

Gujarat / गजुरात

Uttar Pradesh / उ倀㤆र ꬅदशे

Correct Answer :­Uttar Pradesh / उ倀㤆र ꬅदशे 

23)

Question Stimulus :­

Which among the following countries is the largest producer of rice?

/ िन䤀䰄 मꬅ स ेकौन सा दशे चावल का सबस ेबड़ा उ灐ादक दशे ह?ै

Indonesia / इडंोनिेशया

Bangladesh / बा䠀ं猄ादशे

India / भारत

China / चीन

Correct Answer :­China / चीन 

24)

Question Stimulus :­

DuPont analysis is an expression which breaks _______ into three parts. / डपुोटं व㠀ेḄषेण एक ऐसी अिभ㠀簂䄀欃㜀䀅 है
जो_______को तीन िह㠀挂ो मꬅ तोड़ती ह।ै

Gross Profit / सकल लाभ

Return on Equity (ROE) / 䨀✄रटन縂ꬅ ऑन इकुइटी (आर.ओ.ई)
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Net Profit / नटे लाभ

Current Asset / चाल ूप䨀✄रसपं䄀欃က� त

Correct Answer :­Return on Equity (ROE) / 䨀✄रटन縂ꬅ ऑन इकुइटी (आर.ओ.ई) 

25)

Question Stimulus :­

Who among the following Prime Ministers is not a Bharat Ratna awardee? / िन䤀䰄 मꬅ स ेिकस ꬅधानमंꬅी को भारत र䨀嘅
परुⰀ㜄ार नही ंिमला था?

Lal Bahadur Shastri / लाल बहादरु शᴀ꜂ी

Rajiv Gandhi / राजीव गाधँी

Indira Gandhi / इिंदरा गाधँी

V.P. Singh / वी.पी िसहं

Correct Answer :­V.P. Singh / वी.पी िसहं 

26)

Question Stimulus :­

Who was the first CAG of India? / भारत के पहल ेसी.ए.जी कौन थ?े

Shashikant Sharma / शिशकातं शमा縂ꬅ

Vinod Rai / िवनोद राय

AK Roy / ए.के रॉय

V Narahari Rao / वी नरहरी राव

Correct Answer :­V Narahari Rao / वी नरहरी राव 

27)

Question Stimulus :­

Who was the first Supreme Allied Commander of the North Atlantic Treaty Organization? / नाथ縂ꬅ एटलािंटक ट縂ꬅीटी
ऑगꬅनाइजशेन के ꬅथम सुꬅीम एलाइड कमाडंर कौन थ?े

Harry Truman / हरैी က�쀁ꬅमनै

Winston Churchill / िव㴀ं뜃न चिच縂ꬅल
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George HW Bush / जॉज縂ꬅ एच.ड䜀섆 ूबशु

Dwight Eisenhower / डव्ाइट आइजनहावर

Correct Answer :­Dwight Eisenhower / डव्ाइट आइजनहावर 

28)

Question Stimulus :­

Who made the first Telephone call? / सव縂ꬅꬅथम टलेीफोन कॉल िकसन ेिकया?

Queen Victoria/ 尀혂ीन िव漀�ो䨀✄रया

Hello / हलैो

Winston Churchill / िव㴀ं뜃न चिच縂ꬅल

Alexander Graham Bell  / अल一े贃ꬅडर ꬅाहम बले

Correct Answer :­Alexander Graham Bell  / अल一े贃ꬅडर ꬅाहम बले 

29)

Question Stimulus :­

Who among the following was NOT a Vice President of India? / िन䤀䰄िल䄀欃खत मꬅ स ेकौन भारत के उपरा㠀�縂ꬅपित नहीं
थ?े

Bhairon Singh Shekhawat / भरैो ंिसहं शखेावत

Ramaswamy Venkataraman / रामाᘀ┄ामी वꬅकटरमन

Chandra Shekhar / चꬅ शखेर

Basappa Danappa Jatti / बस䨀ἆा दन䨀ἆा ज需ꨂी

Correct Answer :­Chandra Shekhar / चꬅ शखेर 

30)

Question Stimulus :­

Who is the father of Zoology? / ꬅािण िवᄀ윅ान के जनक कौन ह?ै

Theophrastus / िथओꬅ㴀뜃स

Vesalius / वसेिलअस

Mendel / मꬅडले
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Aristotle / अर㴀ᤄु

Correct Answer :­Aristotle / अर㴀ᤄ ु

31)

Question Stimulus :­

The National Flag of India was designed by / भारत का रा㠀�縂ꬅीय 樀猄ज इनके ꀂ灀ारा िडजाइन िकया गया था

Pingali Venkayya / िपगंली वꬅक䄀�ा

Jawaharlal Nehru / जवाहरलाल नहेꬅ

Mahatma Gandhi / महाᘀ윅ा गाधँी

Subhas Chandra Bose / सभुाष च脅 बोस

Correct Answer :­Pingali Venkayya / िपगंली वꬅक䄀�ा 

32)

Question Stimulus :­

Among the following, which is the highest designation in Indian army? / िन䤀䰄िल䄀欃खत मꬅ स ेभारतीय सनेा मꬅ सवꬅ䬀贃
पद कौन सा ह?ै

Lieutenant General / ल䄀े欃䠀ꈃनꬅट जनरल

Brigadier / िꬅगिेडयर

Major General / मजेर जनरल

Colonel / कन縂ꬅल

Correct Answer :­Lieutenant General / ल䄀े欃䠀ꈃनꬅट जनरल 

33)

Question Stimulus :­

When is the “Indian Electrical Equipment Industry Mission Plan” planned to be completed? / ‘‘भारतीय िवद्युत
उपकरण उꀂ灀ोग ल一贃 योजना’’ को कब परूा करन ेकी योजना ह?ै

2018

2020

2022
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2032

Correct Answer :­2022 

34)

Question Stimulus :­

The Union Council of Ministers is collectively responsible to ­­­­­­­­­­­  / कꬅꬅीय मिंꬅप䨀✄रषद
सामिूहक ꬅप उ倀㤆रदायी ह­ै­­­­­­­­­­ का

Prime Minister / ꬅधानमंꬅी

Rajya Sabha / रा䐀� सभा

President / रा㠀�縂ꬅ पित

Lok Sabha / लोक सभा

Correct Answer :­Lok Sabha / लोक सभा 

35)

Question Stimulus :­

Both Ashoka and Chandragupta were_. / दोनो ंअशोक और चꬅग쀍ु _थ।े

Guptas / ग쀍ु

Mauriyas / मौय縂ꬅ

Marathas / मराठा

Rastrakutas / रा㠀�縂ꬅकूट

Correct Answer :­Mauriyas / मौय縂ꬅ 

36)

Question Stimulus :­

‘Geeta­Govindam’ by Kavi Jaydeva was written in_____./ किव जयदवे ꀂ灀ारा ‘गीत गोिव⤀ᜅम’ _____म ेिलखा गया था।

Sanskrit / सⰀंृ㜄त

Kannada / क⨀촅ड़

Maithili / मिैथली

Malayalam / म毿�ालम
(53)
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Correct Answer :­Sanskrit / सⰀंृ㜄त 

37)

Question Stimulus :­

Who among the following issued the lion slayer­type of coins? / िन䤀䰄 मꬅ स ेिकसन ेशरे की आकृित वाल ेिस頁⬈ जारी
िकय?े

Adil Shah / आिदल शाहा

Krishnadevaraya / कृ㠀挂दवेराय

Harsha / हषा縂ꬅ

Chandragupta­II / च脅ंग쀍ुा­II

Correct Answer :­Chandragupta­II / च脅ंग쀍ुा­II 

38)

Question Stimulus :­

Who among the following was on board Sukhoi­30 when it took­off on 25 November 2009 from Pune? / िन䤀䰄 मꬅ स ेकौन
सखुोई ­ 30 मꬅ शािमल था जब िवमान न े25 नव儀ᴃर 2009 को पणु ेस ेउड़ान भरी?

M.S. Dhoni / एम.एस. धोनी

Pratibha Patil / ꬅितभा पािटल

A.P.J. Abdul Kalam / ए.पी.ज.े अ䨀�लु कलाम

Aishwarya Rai / ऐ䌀�या縂ꬅ राय

Correct Answer :­Pratibha Patil / ꬅितभा पािटल 

39)

Question Stimulus :­

Which among the following states has lowest density of population / िन䤀䰄 मꬅ स ेिकस रा䐀� मꬅ आबादी का घन昀㜄
सबस ेकम ह?ै

Sikkim / िस䄀欃頁⬈म

Arunachal Pradesh / अꬅनाचल ꬅदशे

Goa / गोवा

Kerala / केरल
(54)
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Correct Answer :­Arunachal Pradesh / अꬅनाचल ꬅदशे 

40)

Question Stimulus :­

NASA successfully launched a super pressure balloon from ____________ / नासा न ेसफलतापवू縂ꬅक एक सपुर दबाव वाले
ग─ुारे का ____________ दशे स ेꬅमोचन िकया था।

USA / य.ूएस.ए

New Zealand / 㐀ज़ूील縂ꬅड

China  / चीन

India / भारत

Correct Answer :­New Zealand / 㐀ज़ूील縂ꬅड 

41)

Question Stimulus :­

Who founded in London, the Indian Home Rule Society?/ ल⤀ᜅन मꬅ इ䄀欃盿栆या होम ꬅल सोसाइटी की က�थापना िकसन ेकी?

Lal Hardayal/ लाल हरदयाल

Madan Lal Dhingra/ मदन लाल धीगंरा

Sardar Ajeet Singh/ सरदार अजीत िसहं

Shyamji Krishna Verma/ Ⰰꠃामजी कृ㠀挂ा वमा縂ꬅ

Correct Answer :­Shyamji Krishna Verma/ Ⰰꠃामजी कृ㠀挂ा वमा縂ꬅ 

42)

Question Stimulus :­

Which of the following states is NOT on the border of Kerala? / िन䤀䰄 मꬅ स ेकौन सा रा䐀� केरल की सीमा पर नही ंह?ै

Andhra Pradesh / आ 㤆 ꬅदशे

Karnataka / कना縂ꬅटक

Tamil Nadu / तिमल नाडु

None of these / इनम ेस ेकोई नहीं

(55)
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Correct Answer :­Andhra Pradesh / आ 㤆 ꬅदशे 

43)

Question Stimulus :­

Who is the CEO of NATGRID? / नटैिꬅड (NATGRID) का सीईओ कौन ह?ै

Ajit Doval  / अजीत दोवाल

L Pachau / एल पचाऊ

AK Singh Jyoti  / ए.के िसहं က� योित

AK Patnaik / ए.के पटनायक

Correct Answer :­AK Patnaik / ए.के पटनायक 

44)

Question Stimulus :­

Who was conferred the Mohun Bagan Ratna in 2016? / 2016 मꬅ मोहन बागान रက� न स ेिकस ेस⤀ฆ मािनत िकया गया?

Baichung Bhutia / बाइचुंग भिूटया

Syed Naeemuddin / सईद नईमू錃ीन

Karuna Shankar Bhattacharya  / कꬅणा शकंर भ需ꨂाचाया縂ꬅ

Sunil Chettri / सनुील छेꬅी

Correct Answer :­Syed Naeemuddin / सईद नईमू錃ीन 

45)

Question Stimulus :­

When was ‘Central Indian Security Forces (CISF)’ established? / 'के脅ीय भारतीय सरु尀�ा बल' (सीआईएसएफ)' की
က�थापना कब 쀁ꬅई थी?

1959

1965

1969

1975

(56)
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Correct Answer :­1969 

46)

Question Stimulus :­

World Food Day is celebrated on /  िव䌀� खाꀂ灀 िदवस मनाया जाता है

October 16 / अ漀�बर 16

October 26 / अ漀�बर 26

October 6 / अ漀�बर 6

October 14 / अ漀�बर 14

Correct Answer :­October 16 / अ漀�बर 16 

47)

Question Stimulus :­

Which among the following states has the largest concentration of stupas? /

िन䤀䰄 मꬅ स ेिकस रा䐀� मꬅ 㴀ᤄपूो ंका िवशालतम सकंेꬅण ह?ै

Himachal Pradesh / िहमाचल ꬅदशे

Madhya Pradesh / म䰀洅 ꬅदशे

Arunachal Pradesh / अꬅणाचल ꬅदशे

Uttar Pradesh / उ倀㤆र ꬅदशे

Correct Answer :­Madhya Pradesh / म䰀洅 ꬅदशे 

48)

Question Stimulus :­

Most important river island in Madhya Pradesh is / म뫿Ⰲ य ꬅदशे मꬅ सबस ेमह昀㜄पणू縂ꬅ नदी ꀂ灀ीप है

Kalbhairava / कालभरैव

Omkareshwar / ओकंारेက� वर

Wainganga / वाणगगंा

Nauradehi / नौरादहेी

(57)
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Correct Answer :­Omkareshwar / ओकंारेက� वर 

49)

Question Stimulus :­

When was the ‘Hindi Granth Academy’ in Bhopal established? / भोपाल मꬅ 'िह⤀ᜅी ꬅथं अकादमी' की က�थापना कब की
गयी थी?

1956

1969

1959

1961

Correct Answer :­1969 

50)

Question Stimulus :­

Largest river of Madhya Pradesh is / म䰀洅 ꬅदशे की सबस ेबड़ी नदी है

Chambal / च儀ᴃल

Betwa / बतेवा

Sindh / िसधंू

Narmada / नम縂ꬅदा

Correct Answer :­Narmada / नम縂ꬅदा 

51)

Question Stimulus :­

Which of the following rational number lies between 1/4 and 1/2 / िन䤀䰄 मꬅ स ेकौन सी प䨀✄रमय स䴀ं�ा 1/4 और 1/2 के
बीच 䄀欃က�थत है

3/4

3/8

9/8

3/2

(58)
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Correct Answer :­3/8 

52)

Question Stimulus :­

If p ­ = 7 and p q = 30 find the value of p2+ q2. / यिद p ­ = 7 और p q = 30 तो p2+ q2 का मान िनकािलय।े

19

49

­20

109

Correct Answer :­109 

53)

Question Stimulus :­

Manu is 7 years older than Meena. If the sum of their age is 25, what is Manu’s age? / मन ुमीना स े7 साल बढ़ी ह|ै
यिद उनकी आय ुका योग 25 ह,ै तो मन ुकी आय ुᨀ�ा ह?ै

9 years / 9 वष縂ꬅ

19years 6 months / 19 वष縂ꬅ 6 महीने

16 years / 16 वष縂ꬅ

18 years / 18 वष縂ꬅ

Correct Answer :­16 years / 16 वष縂ꬅ 

54)

Question Stimulus :­

A sweet box measures as follows­ Length 32cm, Width 20cm and height
10cm.Mini wants to pack 100 sweets in the shape of cubes in it.  What should
be the size of each sweet? / एक िमठाई के िड─ ेका नाप इस ꬅकार स ेह­ै ल儀ᴃाई 32 सीमी,
चौड़ाई 20 समेी, ऊँचाई 10 समेी। िमनी घन के आकार की 100 िमठाइयँा उसमꬅ पकै करना चाहती ह।ै
ꬅ䄀欃के िमठाई का नाप िकतना होना चािहय?े

A sweet box measures as follows­ Length 32cm, Width 20cm and
height 10cm.Mini wants to pack 100 sweets in the shape of cubes
in it.  What should be the size of each sweet? / एक िमठाई के िड─ ेका
नाप इस ꬅकार स ेह­ै ल儀ᴃाई 32 सीमी, चौड़ाई 20 समेी, ऊँचाई 10 समेी। िमनी घन के

आकार की 100 िमठाइयँा उसमꬅ पकै करना चाहती ह।ै ꬅ䄀欃के िमठाई का नाप िकतना होना(59)
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आकार की 100 िमठाइयँा उसमꬅ पकै करना चाहती ह।ै ꬅ䄀欃के िमठाई का नाप िकतना होना
चािहय?े

8cm / 8 समेी

4cm / 4 समेी

2cm / 2 समेी

Correct Answer :­4cm / 4 समेी 

55)

Question Stimulus :­

Find the fourth proportional to:  8 kg: 32 kg :: 17 kg: ­­­­? / 8 िकꬅा: 32 िकꬅा :: 17
िकꬅा: ­­­­ के िलय ेचौथा समानपुात िनकािलय?े

4.25kg / 4.25 िकलो

256 kg / 256 िकलो

136 kg /  136 िकलो

68 kg / 68 िकलो

Correct Answer :­68 kg / 68 िकलो 

56)

Question Stimulus :­

The probability that an integer in the set 1, 2, 3, ...86 is divisible by 2 and not divisible by 3 is ___________________
/ ꬅाियकता िक सटे 1, 2, 3, ...86 मꬅ पणूाꬅक 2 स ेिवभािजत ह ैऔर 3 स ेिवभािजत नही ंहै

30 /89

31 / 83

29/86

28/84

Correct Answer :­29/86 

57)

Question Stimulus :­

(60)
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The range of the following data 95, 115, 25, 20, 35, 55 is / िन䤀䰄 डाटा का प䨀✄रसर ह ै95, 115, 25, 20, 35, 55

115

20

55

95

Correct Answer :­95 

58)

Question Stimulus :­

The adjacent angles on a straight line is in the ratio 4:5. Find the measure of each angle in degrees in the order. /
एक सीधी रेखा पर पाက� व縂ꬅက�थ कोण 4:5 के अनपुात मꬅ ह縂ꬅ। ꬅ䄀欃के कोण का माप िडꬅी मꬅ ꬅम मꬅ िनकािलय|े

40 ,50

80, 100

60, 100

200,160

Correct Answer :­80, 100 

59)

Question Stimulus :­

If one angle of a polygon is 1850, then that polygon is called a­­­­­­­­­­­­­­­­­­­polygon. / यिद ब쀁ꬅभजु का एक कोण
1850 ह,ै तो उस ब쀁ꬅभजु को­­­­­­­­­­­­­­­­­­­ ब쀁ꬅभजु कहत ेह縂ꬅ|

convex / उက� तल

concave / अवतल

Regular / िनयिमत

Triangle / िꬅकोण

Correct Answer :­concave / अवतल 

60)

Question Stimulus :­

(61)
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Distance in km on y­axis  y­अ尀� पर दूरी िकमी मꬅ   Time in hours­­­on x­axis x­अ尀� पर समय घ裿㤆ो ंमꬅ

A postman cycles from the post office to a neighbouring area to deliver the letters and the
parcels. The distance (in km on y­axis) travelled by him at different times is shown by the
above graph. What is the distance covered after the 5 hours? / एक डािकया पꬅो ंका िवतरण करन ेहतेु
डाकखान ेस ेपड़ोसी 尀�ेꬅ तक साइिकल चलाता ह|ै उसके ꀂ灀ारा िविभ⨀촅 समयो ंमꬅ तय की गई दूरी ऊपर ꬅाफ ꀂ灀ारा(y­अ尀� मꬅ
िकमी मꬅ) िदखाई गयी ह|ै 5 घ裿㤆ो ंबाद िकतनी तय की गई दूरी ᨀ�ा होगी?

30

20

50

60

Correct Answer :­30 

61)

Question Stimulus :­

The lowest temperature possible in nature / ꬅकृित मꬅ सभंव सबस ेकम तापमान है

0 K

­273 K

273K

2730 C

Correct Answer :­0 K 

62)

(62)
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Question Stimulus :­

The charge on a cation depends on / धनायन पर आवशे इस पर िनभ縂ꬅर करता है

The number of protons present in the atom / परमाण ुमꬅ उप䄀欃က�थत ꬅोटोनो ंकी स䴀ं�ा

The number of electrons present in the atom / परमाण ुमꬅ उप䄀欃က�थत इल漀ै�縂ꬅॉनो ंकी स䴀ं�ा

The number of electrons  removed from the atom / परमाण ुस ेिनकाल िदय ेगय ेइल漀ै�縂ꬅॉनो ंकी स䴀ं�ा

The number of electrons added to the atom / परमाण ुमꬅ जोड़ ेगय ेइल漀ै�縂ꬅॉनो ंकी स䴀ं�ा

Correct Answer :­The number of electrons  removed from the atom / परमाण ुस ेिनकाल िदय ेगय ेइल漀ै�縂ꬅॉनो ंकी
स䴀ं�ा 

63)

Question Stimulus :­

A constant force acting on a body of mass 5 kg changes its speed from 2 ms­1 to 4 ms­1 in 20 s, without changing its
direction of motion. The magnitude of the force is / एक 5 िकलोꬅाम ꬅ㠀簂मान की व㴀ᤄ ुपर काय縂ꬅ कर रहा िनरंतर बल,
उसकी चाल को 2मी/स ेस े4मी/स ेमꬅ प䨀✄रवित縂ꬅत करता ह,ै िबना उसकी गित की िदशा बदल े쀁ꬅए। बल का प䨀✄रमाण है

0.2 N

0.5 N

2 N

5 N

Correct Answer :­0.5 N 

64)

Question Stimulus :­

Which of the following is a possible reading marked on a clinical thermometer? / डॉ漀�री थमा縂ꬅमीटर पर चयिनत िकया
गया सभंव पाⰀ�ाकं कौन सा ह?ै

0 0C

20 0C

40 0C

100 0C

(63)
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Correct Answer :­40 0C 

65)

Question Stimulus :­

Which among the following is a weak acid? / िन䤀䰄 मꬅ स ेकौन सा एक कमजोर अ䜀鰄 ह?ै

HCl

HNO3

CH3COOH

H2SO4

Correct Answer :­CH3COOH 

66)

Question Stimulus :­

The browning of Brinjal or Apple when cut & exposed to air is a / कट े쀁ꬅए ब縂ꬅगन या सबे को वाय ुके सपंक縂ꬅ मꬅ रखन ेपर
उसका रंग भरूा हो जाना

Physical change / भौितक प䨀✄रवत縂ꬅन है

Chemical change / रासायिनक प䨀✄रवत縂ꬅन है

Reversible change / उက� ꬅमणीय प䨀✄रवत縂ꬅन है

No change / िकसी ꬅकार का प䨀✄रवत縂ꬅन नही ंहै

Correct Answer :­Chemical change / रासायिनक प䨀✄रवत縂ꬅन ह ै

67)

Question Stimulus :­

Which out of the following can  be  present in both the nucleus and the
ribosomes / िन䤀䰄 मꬅ स ेकौन नािभक और राइबोसोम दोनो ंमꬅ उप䄀欃က�थत हो सकत ेह縂ꬅ

DNA / डी.एन.ए

Free aminoacids  / मुఄ  अमीनो अ䜀鰄

mRNA / एम आर.एन.ए

tRNA / टी आर.एन.ए

(64)
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Correct Answer :­mRNA / एम आर.एन.ए 

68)

Question Stimulus :­

Multilocular ovary normally shows ­­­­­­­­­­­­­­­­­­ placentation / ब쀁ꬅकोက� ठकी अडंाशय
सामा㐀 ꬅप स­े­­­­­­­­­­­­­­­­­अपरा㐀ास िदखाता है

Axile / 㴀ᤄभंीय

Parietal / िभက� तीय

Marginal / उपातं

Basal  /आधा䨀✄रक

Correct Answer :­Axile / 㴀ᤄभंीय 

69)

Question Stimulus :­

The term used for the structure used to transfer genetic information from one cell to the
other in genetic engineering  is___________ / अनवुािंशक अिभयािंꬅकी मꬅ एक कोिशका स ेदूसरी पर
अनवुािंशक सचूना က�थानातं䨀✄रत करन ेमꬅ ꬅय㜀ु䀅 सरंचना के िलए जो श䨀� ꬅय㜀ु䀅 होता ह,ै वह ह ै___________.

Carrier / वाहक

t­RNA / टी­आरएनए

m­RNA / एम­आरएनए

Vector / व漀े�र

Correct Answer :­Vector / व漀े�र 

70)

Question Stimulus :­

The science which uses Fossils to study the history of life on earth is_________ / वह िवᄀ윅ान जो प␀ृ焄ी पर जीवन के
इितहास का अ䰀洅यन करन ेके िलए जीवा㠀 का उपयोग करता ह ै______.

Archeology / परुात昀㜄 शाᴀ꜂

Geology / भिूवᄀ윅ान

Palaentology / जीवा㠀 िवᄀ윅ान

(65)
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Life history / जीवनव倀ृ㤆

Correct Answer :­Palaentology / जीवा㠀 िवᄀ윅ान 

71)

Question Stimulus :­

The average of all odd numbers between 1 and 100 is? / 1 और 100 के बीच की सभी िवषम स䴀ं�ाओ ंका औसत ᨀ�ा
ह?ै

51

49

50

53

Correct Answer :­50 

72)

Question Stimulus :­

What least number to be added to each of 3, 13 and 43 to ensure that the numbers are
in continued proportion? / 3, 13 एव ं43 मꬅ कौन सी 㐀नूतम स䴀ं�ा जोड़ी जानी चािहए िजसस ेिक य ेस䴀ं�ाएँ
िवतत समानपुाितक हो जाएँ?

2

3

4

None / कोई नहीं

Correct Answer :­2 

73)

Question Stimulus :­

5/8th of 72 is / 72 का 5/8वा ँह:ै

63

48

45
(66)
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60

Correct Answer :­45 

74)

Question Stimulus :­

Remainder when you divide 529 by 35 is / जब आप 529 को 35 स ेिवभािजत करत ेह縂ꬅ तो शषे: Remainder when you
divide 529 by 35 is / जब आप 529 को 35 स ेिवभािजत करत ेह縂ꬅ तो शषे:

8

6

4

0

Correct Answer :­4 

75)

Question Stimulus :­

3 years ago, the average age of 5 members is a family was 17 years. What is their present
total age? / 3 साल पहल,े एक प䨀✄रवार मꬅ 5 सद䌀�ो ंकी औसत आय ु 17 वष縂ꬅ थी। वत縂ꬅमान मꬅ सभी की कुल िमलाकर
आय ुिकतनी ह?ै

88 years / 88वष縂ꬅ

90 years / 90 वष縂ꬅ

95 years / 95वष縂ꬅ

100 years / 100वष縂ꬅ

Correct Answer :­100 years / 100वष縂ꬅ 

76)

Question Stimulus :­

The average age of a husband and his wife was 26 years at the time of marriage. After 2 yrs, then average of the
couple  along with  their  child  decreases  by  7  years. What  is  the  age  of  the  child? / शादी  के समय एक पित और
उसकी प䨀嘅ी की औसत आय ु26 वष縂ꬅ थी। 2 वषꬅ बाद, उनके ब䬀贃 ेके साथ पित­पि䨀嘅 के औसत मꬅ 7 वषꬅ की कमी आ गयी।
ब䬀贃 ेकी आय ुिकतनी ह?ै

2 yrs / 2वष縂ꬅ
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1 yrs / 1वष縂ꬅ

6 months / 6 महीने

1.5 yrs / 1.5वष縂ꬅ

Correct Answer :­1 yrs / 1वष縂ꬅ 

77)

Question Stimulus :­

Ahmed asked for a personal loan from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his
landlord, Rs. 3,000 to his partner, and with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be
left with Ahmed after all the expenditure? / अहमद एक ब縂ꬅक स े1,00,000 ꬅपए के 㠀簂䄀欃㜀䀅गत ऋण के िलए कहता ह।ै
िजसमꬅ स ेउस,े 20,000 ꬅपए अपन ेमकान मािलक को, 3,000 ꬅपए अपन ेसहभागी को एव ं35,000 ꬅपए स ेउस ेएक
मोटर साइिकल खरीदनी ह।ै कुल खच縂ꬅ के बाद अहमद के पास िकतन ेꬅपए बचꬅग?ेAhmed asked for a personal loan
from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his landlord, Rs. 3,000 to his partner, and
with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be left with Ahmed after all the
expenditure? / अहमद एक ब縂ꬅक स े1,00,000 ꬅपए के 㠀簂䄀欃㜀䀅गत ऋण के िलए कहता ह।ै िजसमꬅ स ेउस,े 20,000 ꬅपए
अपन ेमकान मािलक को, 3,000 ꬅपए अपन ेसहभागी को एव ं35,000 ꬅपए स ेउस ेएक मोटर साइिकल खरीदनी ह।ै कुल
खच縂ꬅ के बाद अहमद के पास िकतन ेꬅपए बचꬅग?े

Rs. 39,000 / ꬅ. 39,000

Rs. 42,000 / ꬅ. 42,000

Rs. 43,000 / ꬅ. 43,000

Rs. 44,000 / ꬅ. 44,000

Correct Answer :­Rs. 42,000 / ꬅ. 42,000 

78)

Question Stimulus :­

Fill in the missing alphabets / ल쀍ु अ尀�र भ䨀✄रए

ba__b__aabb__bb

a, a, a

b, b, b

a, b, a

b, a, b

(68)
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Correct Answer :­a, a, a 

79)

Question Stimulus :­

89% of 200 is / 200 का 89% ह:ै

149

160

178

188

Correct Answer :­178 

80)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / िन䤀䰄 चार पतो ंमꬅ स ेकौन सा नीच ेिदय ेगय ेपत ेके एकदम समान नही ंह?ै

 

Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342­7094

  

(i)   Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342­7094

     

(ii)  Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342­7094

  

(iii) Robert S Ingram 1998 Revocable
(69)
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8 Shaftsbary Ln
Hilton Head Island, SC 29926

(843) 342­7094

 

(iv) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342­7094

i

ii

iii

iv

Correct Answer :­iii 

81)

Question Stimulus :­

Which one of the following four addresses is NOT EXACTLY same as the other three? / िन䤀䰄
चार पतो ंमꬅ स ेकौन सा एक बाकी तीन के एकदम समान नही ंह?ै

Mr.Koichiro Matsura

Kinsaka Ltd

2­2­11, Kudan

Chiyoda – ku

Hokkaido – 102

JAPAN

 

1. Mr.Koichiro Matsuura

                     Kinsaka Ltd

                     2­2­11, Kudan

                     Chiyoda – ku

                     Hokkaido – 102
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                     JAPAN

 

1. Mr.Koichiro Matsura

                    Kinsaka Ltd

                    2­2­11, Kudan

                    Chiyoda – ku

                    Hokkaido – 102

                   JAPAN

 

1. Mr.Koichiro Matsuura

                    Kinsaka Ltd

                   2­2­11, Kudan

                   Chiyoda – ku

                    Hokkaido – 102

                   JAPAN

 

1. Mr.Koichiro Matsuura

                    Kinsaka Ltd

                    2­2­11, Kudan

                    Chiyoda – ku

                    Hokkaido – 102

                    JAPAN

i

ii

iii

iv

Correct Answer :­ii 

82)

(71)
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Question Stimulus :­

A person walks a certain distance and rides back taking a total time of 37 min. He could walk both ways in 55 min.
How long would it take him to ride both ways? / एक 㠀簂䄀欃㜀䀅 कुल 37 िमनट का समय लते े쀁ꬅए एक िनि㠀䐄त दूरी चलता है
एव ंवाहन स ेलौटता ह।ै वह दोनो ंरा㴀ᤄ े55 िमनट मꬅ चल सकता ह।ै वाहन स ेदोनो ंरा㴀ᤄो ंको तय करन ेमꬅ उस ेिकतना समय
लगगेा?

29 min / 29िमनट

92 min / 92 िमनट

40 min / 40िमनट

72 min / 72िमनट

Correct Answer :­29 min / 29िमनट 

83)

Question Stimulus :­

A shop keeper buys 16 bags each Rs.225 he sold it for Rs.250 per bag. How much profit did he get? / एक
दकुानदार 16 थलै ेखरीदता ह,ै ꬅ䄀欃के थलै ेकी कीमत ꬅपय े225 ह।ै ꬅ䄀欃के थलै ेको उसन ेꬅपय े250 मꬅ बचे िदया। उसे
िकतना लाभ ꬅा쀍 쀁ꬅआ?

420

370

350

400

Correct Answer :­400 

84)

Question Stimulus :­

Find the next term in the series 7,13,21,31,_________ / �픅खंला मꬅ अगला पद ᄀ윅ात कीिजए 7,13,21,31,__________.

41

43

37

38

(72)
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Correct Answer :­43 

85)

Question Stimulus :­

Find the next term in the series. / �픅खंला मꬅ अगला पद ᄀ윅ात कीिजए

28, 15, 6, ?, 0

3

2

1

0

Correct Answer :­1 

86)

Question Stimulus :­

In a certain language ‘gonk nonk konk’ means  ‘life and death’ and ‘ henk konk bonk’
means ‘live better life’. Then in that language the word  ‘konk’ is used for: / िकसी खास भाषा मꬅ
‘gonk nonk konk’ का मतलब ह ै‘life and death’ और‘ henk konk bonk’ का मतलब ह ै‘live better life’।
तो उस भाषा मꬅ श䨀� ‘konk’ इसके िलए ꬅयोग होता ह:ै

live

life

death

beĥer

Correct Answer :­life 

87)

Question Stimulus :­

In the sequence shown below, which figure comes next? / नीच ेिदखाय ेगय ेꬅम मꬅ अगली आकृित कौन सी होगी?

 

(73)
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Correct Answer :­  

88)

Question Stimulus :­

If Shanthi says, “Kranĕ’s mother Rambha is the only daughter of my father‐in‐law, Mithun,” then how is Latha, who is
the sister of Kranĕ, related to Mithun? / यिद शािंत कहती ह,ै “ꬅािंत की माता र쟿ꨂा मरेे ससरु, िमथनु की इकलौती
बटेी ह,ै” तो लथा, जो ꬅािंत की बहन ह,ै िमथनु स ेकैस ेसबंिंधत ह?ै

Grand father / दादा

Granddaughter / पोती

(74)
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Father / िपता

Father‐in‐Law / ससरु

Correct Answer :­Granddaughter / पोती 

89)

Question Stimulus :­

A + B means that A is the father of B / A + B का मतलब ह ैिक A, B के िपता ह縂ꬅ

A ­ B means that A is the mother of B / A ­ B का मतलब ह ैिक A, B की माता है

A x B means that A is the brother of B / A x B का मतलब ह ैिक A, B का भाई है

A / B means that A is the sister of B / A / B का मतलब ह ैिक A, B की बहन है

A ! B means that A is the son of B / A ! B का मतलब ह ैिक A, B का बटेा ह ै                                

A $ B means that A is the daughter of B / A $ B का मतलब ह ैिक A, B की बटेी है

If the relationship between D and C is represented as D / A + B x C, then, how is D related
to C? / यिद D और C के बीच का सबंधं D / A + B x C स ेदशा縂ꬅया जाता ह,ै तो D, C स ेकैस ेसबंिंधत ह?ै

Mother / माता

Father / िपता

Aunt / आटंी

Uncle / अकंल

Correct Answer :­Aunt / आटंी 

90)

Question Stimulus :­

J is the sister of S. S is the sister­in­law of B. D is the brother of B. How is D related to J? / J, S की बहन ह।ै S, B
की भाभी ह।ै D, B का भाई ह।ै D, J स ेकैस ेसबंिंधत ह?ै

Sister / बहन

Sister­in­law / भाभी

Daughter / बटेी

Brother­in­law / दवेर
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Correct Answer :­Brother­in­law / दवेर 

91)

Question Stimulus :­

Which of the following is the mirror image of CRICKET? / िन䤀䰄 मꬅ स ेकौन सा CRICKET का दप縂ꬅण ꬅितिब儀ᴃ ह?ै

Correct Answer :­  

92)

Question Stimulus :­

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / िन䤀䰄 ꬅ✀༄ मꬅ, पहल ेश䨀� का दूसरे श䨀� के साथ िकसी ꬅकार स ेकोई सबंधं ह।ै यिद तीसरे श䨀� का चौथ ेश䨀� के
साथ उसी ꬅकार का सबंधं होना चािहए, तो चौथा श䨀� होगा:

Newton : Force :: Bell : ? / 㐀टून : बल :: घ裿㤆ी : ?

Radio / रेिडयो

Telephone / टलेीफोन

Telegram / टलेीꬅाम

Telescope / दूरबीन

Correct Answer :­Telephone / टलेीफोन 

93)

Question Stimulus :­

How many 5 digits numbers can be formed using the digits 1, 2, 2, 4, 2, 4?  /
अकंो ं1, 2, 2, 4, 2, 4 का ꬅयोग करत े쀁ꬅए िकतनी 5 अकंो ंकी स䴀ं�ाओ ंका िनमा縂ꬅण िकया जा सकता ह?ै

120

(76)
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720

60

360

Correct Answer :­60 

94)

Question Stimulus :­

CANCELLED

Meeta travels 4 km towards north and then travels 5 km eastward. She then travels 10 km rightwards, and then 3
km to the left and finally 5 km northwards. How far is she approximately from his original destination and in what
direction? / मीता उ倀㤆र की ओर 4 िकमी याꬅा करती ह ैऔर िफस परूब की ओर 5 िकमी याꬅा करती ह।ै वह िफर
दायी ंओर 10 िकमी याꬅा करती ह,ै और िफर बायी ंओर 3 िकमी और अतं मꬅ उ倀㤆र की ओर 5 िकमी। वह अपनी
वा㴀ᤄिवक मिंज़ल स ेिकतनी दूरी पर ह ैऔर िकस िदशा मꬅ ह?ै

8 km towards east / पवू縂ꬅ की ओर 8 िकमी

15 km towards south / दि尀�ण की ओर 15 िकमी

8 km towards south­east / दि尀�ण­परूब की ओर 8 िकमी

18 km towards south / दि尀�ण की ओर 18 िकमी

Correct Answer :­8 km towards east / पवू縂ꬅ की ओर 8 िकमी 

95)

Question Stimulus :­

Malini travels 10 km towards south. He then turns left and travels 2 km and then turns right and travels 4 km and
finally travels 2 km towards the east. What is his position (in horizontal and vertical directions) with reference to
the starting point? / मिलनी दि尀�ण की ओर 10 िकमी याꬅा करती ह।ै वह िफर बायꬅ मड़ुती ह ैऔर िफर दायꬅ मड़ुती है
और 4 िकमी याꬅा करती ह ैऔर अतं मꬅ परूब की ओर 2 िकमी याꬅा करती ह।ै उसकी 䄀欃က�थित (尀�िैतज और लबंवत
िदशाओ ंमꬅ) आरंभ िबदं ुके सदंभ縂ꬅ स,े ᨀ�ा ह?ै

4 km to the east, 14 km to the south / 4 िकमी परूब की ओर, दि尀�ण की ओर 14 िकमी

14 km to the south, 4 km to the east / दि尀�ण की ओर 14 िकमी, परूब की ओर 4 िकमी

18 km to the south, 14 km to the east / दि尀�ण की ओर 18 िकमी, परूब की ओर 14 िकमी

18 km to the south, 8 km to the east / दि尀�ण की ओर 18 िकमी, परूब की ओर 8 िकमी

Correct Answer :­4 km to the east, 14 km to the south / 4 िकमी परूब की ओर, दि尀�ण की ओर 14 िकमी 
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96)

Question Stimulus :­

Select the statement, which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक縂ꬅ की ꔀ縄䄀欃℀蜂 स ेिदय ेगय ेकथन के समान ह।ै

“It is not true that some dogs bark or some birds do not have feathers.” / “यह स䄀欃 नही ंह ैिक
कुछ कु倀㤆 ेभौकंत ेह縂ꬅ या कुछ िचिड़यो ंके पखं नही ंहोत।े”

Some dogs do not bark and some birds have feathers. / कुछ कु倀㤆 ेभौकंत ेनही ंह縂ꬅ और कुछ िचिड़यो ंके पखं होते
ह縂ꬅ।

No dogs bark and all birds have feathers. / कोई भी कु倀㤆 ेभौकंत ेनही ंह縂ꬅ और सभी िचिड़यो ंके पखं होत ेह縂ꬅ।

Some dogs do not bark or some birds have feathers. / कुछ कु倀㤆 ेनही ंभौकंत ेया कुछ िचिड़यो ंके पखं होत ेह縂ꬅ।

No dogs bark and some birds have feathers. / कोई भी कु倀㤆 ेभौकंत ेनही ंह縂ꬅ और कुछ िचिड़यो ंके पखं होत ेह縂ꬅ।

Correct Answer :­No dogs bark and all birds have feathers. / कोई भी कु倀㤆 ेभौकंत ेनही ंह縂ꬅ और सभी िचिड़यो ंके
पखं होत ेह縂ꬅ। 

97)

Question Stimulus :­

Select the statement which is the logical equivalent to the given statement. / वह कथन चिुनये
जो तक縂ꬅ की ꔀ縄䄀欃℀蜂 स ेिदय ेगय ेकथन के समान ह।ै

I will need extra tuitions if I take up math or science / मझु ेअित䨀✄र㜀䀅 िश尀�ण की जꬅरत होगी यिद म縂ꬅ
गिणत या िवᄀ윅ान लतेा 쀁ꬅ|ँ

If I learn math, I will learn science / यिद म縂ꬅ गिणत का अ䰀洅यन कꬅ, तो म縂ꬅ िवᄀ윅ान का अ䰀洅यन कꬅगा

If I don’t learn science, I won’t need tuiĕon / यिद म縂ꬅ िवᄀ윅ान का अ䰀洅यन न कꬅ, तो मझु ेिश尀�ण की आवⰀꠃकता
नही ंहोगी

If I learn math, I will need tuiĕon / यिद म縂ꬅ गिणत का अ䰀洅यन कꬅ, तो मझु ेिश尀�ण की आवⰀꠃकता होगी

None of the above is warranted. / ऊपर मꬅ स ेिकसी की गार裿㤆ी नही ंह।ै

Correct Answer :­If I learn math, I will need tuiĕon / यिद म縂ꬅ गिणत का अ䰀洅यन कꬅ, तो मझु ेिश尀�ण की
आवⰀꠃकता होगी 

98)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक컿� चिुनये
जो िदय ेगय ेकथनो ंऔर िनᘀ┄षꬅ के बारे मꬅ सही ह:ै
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Statements: / कथन:

 

Some whistles are mice. / कुछ सीिटया ँचहू ेह縂ꬅ।

Some mice are lions. / कुछ चहू ेशरे ह縂ꬅ।

Some lions are caves. / कुछ शरे गफुाएं ह縂ꬅ।

 

Conclusions: / िनᘀ┄ष縂ꬅ:

 

i.Some caves are mice. / कुछ गफुाएं चहू ेह縂ꬅ।

ii.All whistles are caves. / सभी सीिटया ँगफुाएं ह縂ꬅ।

If only conclusion I follows / यिद केवल िनᘀ┄ष縂ꬅ I िनकलता है

If only conclusion II follows / यिद केवल िनᘀ┄ष縂ꬅ II िनकलता है

If both conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II दोनो ंिनकलत ेह縂ꬅ

If none of the conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II मꬅ स ेकोई नही ंिनकलता है

Correct Answer :­If none of the conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II मꬅ स ेकोई नही ंिनकलता
ह ै

99)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक컿� चिुनये
जो िदय ेगय ेकथनो ंऔर िनᘀ┄षꬅ के बारे मꬅ सही ह:ै

Statements: / कथन:

 

All fans are sockets. / सभी पखं ेसॉकेट ह縂ꬅ।

All sockets are jelly. / सभी सॉकेट जलेी ह縂ꬅ।

All jellies are windows. / सभी जलेी 䄀欃खड़िकया ँह縂ꬅ।

 

Conclusions: / िनᘀ┄ष縂ꬅ:
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i.All windows are fans. / सभी 䄀欃खड़िकया ँपखं ेह縂ꬅ।

ii.Some windows are sockets. / कुछ 䄀欃खड़िकया ँसॉकेट ह縂ꬅ।

If only conclusion I follows / यिद केवल िनᘀ┄ष縂ꬅ I िनकलता है

If only conclusion II follows / यिद केवल िनᘀ┄ष縂ꬅ II िनकलता है

If both conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II दोनो ंिनकलत ेह縂ꬅ

If none of the conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II मꬅ स ेकोई नही ंिनकलता है

Correct Answer :­If only conclusion II follows / यिद केवल िनᘀ┄ष縂ꬅ II िनकलता ह ै

100)

Question Stimulus :­

Select the option that is true about the Statements and Conclusions given: / वह िवक컿� चिुनये
जो िदय ेगय ेकथनो ंऔर िनᘀ┄षꬅ के बारे मꬅ सही ह:ै

Statements: / कथन:

 

All numbers are prime. / सभी स䴀ं�ाएं अꬅ ह縂ꬅ।

All primes are old. / सभी अꬅ परुान ेह縂ꬅ।

Some olds are dead. / कुछ परुान ेमतृ ह縂ꬅ।

 

Conclusions: / िनᘀ┄ष縂ꬅ:

 

i.All numbers might not be dead. / सभी स䴀ं�ाएं मतृ नही ंहो सकत।े

ii.Some primes are definitely dead. / कुछ अꬅ िनि㠀䐄त ही मतृ ह縂ꬅ।

If only conclusion I follows / यिद केवल िनᘀ┄ष縂ꬅ I िनकलता है

If only conclusion II follows / यिद केवल िनᘀ┄ष縂ꬅ II िनकलता है

If both conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II दोनो ंिनकलत ेह縂ꬅ

If none of the conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II मꬅ स ेकोई नही ंिनकलता है

Correct Answer :­If none of the conclusion I and II follows / यिद िनᘀ┄ष縂ꬅ I और II मꬅ स ेकोई नही ंिनकलता
ह ै
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